CHUCK
CYLINDER

sSeOAM

MU | H| BT A AL

O k=g 1 /1
SEOAM MACHINERY INDUSTRY CO.,LTD.




se0CAm

HISTORY OF SEOAM

1978. 02.

Establishment of Hwacheon Gear Works Co.,Ltd.
BRGNS

ER¥ v TEMASUHRTL
31H7[01 S Y FAIS| A dE

1980. 04.

Merged with Hwacheon Chuck Co., Ltd.

ERRFEKASHEH

ERF v v VT () RNEH

SFHChuck3 Y (F)E= &

1986. 07.

Made a contract of technical cooperation with Howa machinery. Ltd.
5B FHOWANBZE BRASIESE

AA HOWATZEMA L4 &R AR

UZHOWASH(F) 712 =Y A2t

1992 02.

Exported Power Chuck to Howa machinery Ltd.
MHFREDZEBFHOWANK

NI —F ¢y 9%AA HOWATEKASH
Power Chuck Z& HOWA &

1995. 01.

Moved to new factory in Hanam Industrial Complex.
WEZETE TUEEXNFH I

NF LT EMC TIRHERE

SIEHBHeE SF UK oH

1996. 12.

Achieved C.E Mark.
RIBEMC.BAE

3-0 9 NReHE C.E v —IBF
Europe 2P C. E Mark &5

1997. 12.

Appointed as an excellent company for the cooperation of labor & employer.

RERENERBIALLWRS GRERE)
HEHHERERET (HEIKE)
A 237|Y MY (=SRER)

1998. 09.

Achieved ISO 9001 certificate.
$K181SO 9001 EFRREIALE
1SO 9001 ZB3E BfF

1S0 9001 2IZ &5

1998. 11.

R&D center established.
R&DH L RLIL
EARIAZRARAL

7|8 A HE

1999. 01.

Exported Power Chuck to germany.
HHFREOERE

Power Chuck % K4 ~Bith
Power Chuck SY4+&

2000. 10.

Changed company name into “SEOAM”
REIEZ RIHENR TS5t
BERETD0 REMBIERASH ((H222E
SET|0M MUTIASH(F)E 45 HEY

2001. 04.

Exported Power Chuck & Cylinder to USA.
MHFENEE R HOEEE

Power chuck & Cylinder % KE it
Power chuck & Cylinder 0|24&

2001. 05.

Appointed as an excellent medium & small sized company by Prime Minister.
FREEFE AR TFHARL PR

BEHRNEAETE (EBHIERR)

B F47|H004 4 (=752

2 | www .seoam kr

2001. 11.

Awarded a prize by president in commemoration of TRADE day.
EHRT L RREERE LT

EHOAAMEETE

200/t Y $4

2003. 05.

Exported Powerchuck & Cylinder to China.
MOFENOEBIEOZETE
Powerchuck & Cylinder % FE B
Powerchuck & Cylinder 24&

2004. 01.

Exported Powerchuck & Cylinder to South Africa.
MOFRAOERE T O Z/EIEEAE
Powerchuck & Cylinder g7 7 U hiFIE it
Powerchuck & Cylinder &0}=z2|7|582 £&

2004. 11.

Awarded trophy for exports over US$3Millions and

awarded recognition from Korea president

EREL N0 SEBI00HETNEWME LR
REREEAMBEZER 3007 FEdERE
LHEO|AF CHE A 4 & 3002HE & 4

2004. 12.

Awarded Materials and Components Technology prize by Minister
of Commerce, Industry and Energy.

FRTALE, RSB RMANMH KT EZ

EXERAEE EhmRmin 28

AR FHM(HEA T2

2005. 11.

Awarded trophy for exports over US$5Millions and

by Minister of Commerce, Industry and Energy
FR'RH2B500hETEOF R, EIREPRER
BSNDA5007 FLEHEZRERCEXERARESE

Soio| & S002HE AFE 44 % ANIY 24

2006. 01.

Developed high speed Compensating Chuck & Hydraulic Cylinder(8,000rpm)
FEBONMEESRELFZRSE (8,000rpm)

EONHENSERT » v J&@& Y v 4 —F%(8,000rpm)

i3 B n4H § TEAIH JH2(8,000rpm)

2006. 03.

Awarded a model taxpayer prize by Minister of Finance and Economy
RREOHRLIN (B FHRE)

REWEEZE (B ERE)

LAY AR 2R )

2006. 12.

5patents registered for Compensating Chuck etc.(Korean Intellectual Property Office)
BUSERE O DAMER ) N EESIMEH (FHIT)

TR DRONRHER AT - F ¢ v IS OHETERG (555T)

Muto] M EAY T 4 5 S5{ES(S5(E)

2007. 04.

Approval components & material company certificate by Minister of Commerce,
Industry and Energy

RisRNBRMEZ IR (FUREPRE)
BRRMBPIEIETE (EXERAR)

REA METIY NH AL )

2008. 11.

Achived Single PPM certificate for Power Chuck and Hydraulic Cylinder
S EAPPMSRIAE CAEF# & E D)

2V JWPPMEERIEREG (NI —F v v J&BEY Y v 4-)

43P EAZ HS(RU & UNELY)

2011.12.

Stock listed at KOSDAQ
KOSDAQL
KOSDAQ_t%
KOSDAQ &%




CONTENTS

OWER CHUCK / 08

YDRAULIC CYLINDER / 40

ANUAL CHUCK / 60

CCESSORIES / 70

PECIAL CHUCK / 78

AFFILIATE &5

| == I 2T7 IS FA 2 A
HIACHEON MACHIE TOOL CO.LTD.  ERHT#siAM

T EREENER
HIWACHEON MACHINERY CO,LTD, £5iictatt

| == [ EIT|0|AT2|0RFEAS|AL
TPS KOREA CO.LTD. TPS KOREAHS A4

www .seoam kr |3



R CHUCK & HYDRAULIC CYLINDER

Based on the technical cooperation with HOWA in Japan, we developed power chucks and hydraulic
cylinders for the first time in Korea. On top of that, finally, we achieved technology independence by
developing world-class SEOAM SERIES, which brings us significant improvement in technology and

paves the way for the world-class company.

Compact powerful! Elaboration to go with that power.
The greatest work created

with the know-how of 40 year’s history

SEOAM CYLINDER SERIES!

It will give you the best satisfaction

EMEZR, NI, XREHOHARTRIMR.
A0FMNT W EFRAER T &EARE~T .
Ine DBIRISEXHRRENTX.

NELTHRN DRSS SFEHE -
AQFDIELDNGH % 7% > TEEA I EREDEHE SEOAM
SEOAM CYLINDER SERIES! S%E#RICHERISHEZIMELE .

x|eH 2 8, 2 83 022l Yt
4021 QM| HAE EI0F EHYAIZI H| 70| HaY
SEOAM CYLINDER SERIES!

DUO{RE B BES SELIC

2 2

4 | www seoam kr




HESHAHOWARITRASENEM L & Toh D2 OIS Ina

H T RMENSEOAMBSIES, XiTE B EMMERE F T I RAERF

ALMEZRS, Famailma st RaEH W Er 2t

HAHOWALEKRA SH OB AIRIETHUERINT —F v v VEHED Y V 4 —ZBETHAICHFE LI LI
ERUIEMN EBAMBOEHORRMRREKEDRBREI—ZL Y- NT=F vy 7

SHES Y v 4 —ZmAmRkLE UL

D\ U= HOWA fitelo] 712 RIS 2 Th& 2t RMAIRIG S 21 & %2 JiLsiia,
0l2{at M 7|20} Bolois wajo| Anl2

’ \ HI71Z| 1 £%0| SEOAM SERIES LI, SQIAIRIC S SX} JHLSIRELICE

We created SEOAM CHUCK SERIES

- 4 to be the best in the world
iy ! ﬂ with our skills and experience built
g . during a quarter century!
3 'r"n’ You can check its quality yourself.

[l allHMEHNRA, FENZR,

SRR —RNSEOAMFR RS, Ed%
e AFENEFIRT, KEllH—ENE P RELR 0.
: BB MR B WIEAAE]
FafftRaR.

JFREZ RN ERRETICHRARSZBIEL TE
AT2 SEOAM + v 92 =X COGE%EZCBRTIMH
BLIEED

40 SOH4ot2 7|21 Z3 S HIZ2Z
HA 218 SEZ EYAIZ
SEOAM CHUCK SERIES!

1 EFE AH HoH FUAR

www.seoam kr |5




| POWER CHUCK : STRUCTURE & PART NAME |

OPEN CENTER POWER CHUCK : CAH/CGH

CAH-CGH [ | - [ ][]

Chuck Size

Blank —E®Z&% / Standard / fr&R! / {Z4RY
A —OFEEt EtQ) / Adapter type / &BECEMZEE / 74T 4—447
T 2-%& EI] / 2-jaw type / 2—jawiZt / 2MAY

MASTER JAW JAW NUT

T
fiE
:ﬁ
|

DRAW SCREW ?3

lismi
= {%ITOPJAW

PILOT BUSH

R[]
N
o
1@5
-

Rt e WEDGE PLUNGER

RETAINER
BODY

CLOSED CENTER POWER CHUCK : CAS

Chuck Size

Blank [ &8 / Standard / tRA&RY / 2R
A  OFEfEt EIQl / Adapter type / EFcseit / 747 4—-447
T - 2-% EtY / 2-jaw type / 2-jawFdzs / 2TRY

JAW NUT

3

DRAW TUBE TOP JAW

COVER

2

ROUND NUT

I WEDGE PLUNGER

DRAW SCREW

\\

6 | www seoam kr



| HYDRAULIC CYLINDER : STRUCTURE & PART NAME |

OPEN CENTER HYDRAULIC CYLINDER : YAH/YGH/YSH/YSGH

Cylinder Size Blank EStandard
- CA '— Coolant Collector
Cylinder Model A — Big Bore (BE&S) / trififl / {Z4RY
G~ Great Bore (LH2SZ) / kOEh=nl | XKEER
S Slim-Body Big Bore (&&) / &/l / 21 L&Y
SG Slim—-Body Great Bore (£ EEY) / B/hKOFEpZM | Y LKEER

CYLINDER BODY
DISTRIBUTOR

PISTON

CYLINDER COVER

STOPPER

RELIEF VALVE

CHECK VALVE

HOSE NIPPLE |

Cylinder Size
Cylinder Model S Z8 / Standard / trifefl / £2AERY
SC —XHIYWE WZES / Check valve type / IR / Fz v 2730 THERS
SP (—Z2T-ARIR| BA7[5E / Proximity switch type / sl I / M2 4 » FEAHSATRERY
ST - HIWE LIEHZTHARIR| RA7|15d / #iRBY + nIHITFOY /
check valve type + proximity switch type /
Fzy N VTHREE + R o FEYT I RIRERY

CYLINDER COVER PISTON  CYLINDER BODY

lof

DETECTING RING /Eﬁ”

DETECTING RING SHAFT
HOUSING,/ CHECKVALVE

RELIEF VALVE

J

www .seoam.kr | 7



SeOAM
POWER CHUCK

i
k=l
o
rr
>
I
i)
|0
HU
P
T [x
0
n

=

ol

> K
T oo
r
o

r
>
o
i
i
1
in

o
o

u
L

In
[l
o KT
]
o
09
rot
-
i)
|
s - H-Ll i
|:J
B
=)
no
kI
o
10
"
-
il

O Tl
e
1>
M
OHl
Qrﬂ
?
]
=
o
1e
H1
M
Ral
o
il
I
Inl

g

ol
Sy
gl
L

A

X
O
1%
ok
1
ol
>
rr
@
El
10
o Mo
ﬂJﬁz 19

We will make a great effort to get customers satistaction with self—confidence of the best.
Having accumulated technologies by developing own power chuck series for the first time
in Korea and continuous improvement efforts, the SEOAM promises to provide world top
class guality products and reliable services with various power chuck series directed to
realizing high gripping force, high speed with light weight.

SEOAM Machinery is proud of the highest quality and precision products.



., CAH

'® | BGBORE POWER CHUCK

p10

» CAHA

® | BG BORE POWER CHUCK
o (WITHADAPTER)

p12

CAHT

' 2-JAWBIG BORE
’ POWER CHUCK

4-JAW BIG BORE
09 6\ERCHUCK

p16

CGH

5 | GREAT BORE
POWER CHUCK

pi18

. CGHA

GREAT BORE CHUCK

W (WITH ADAPTER)

p20

fib, CGHT/F

A | 2-JAW, 4-JAW GREAT BORE
| POWER CHUCK

p22

CAS

CLOSED CENTER

- POWER CHUCK

p24

CASA

CLOSED CENTER POWER CHUCK

: . (WITH ADAPTER)

p26

CAS-HC

CLOSED CENTER COMBINATION CHUCK
(HYDRAULIC+NDEPENDENT)

p28

CASD

(Direct Mount type)

" CLOSED CENTER POWER

CHUCK (DIRECT MOUNT TYPE)

p30

. CASVA

® (01 0SED CENTER POWER CHUCK

(DUST PROOF & WATER PROOF)

p32

CAST

2—JAW CLOSED CENTER

~ POWER CHUCK

p34

CASF-HC

4-JAW CLOSED CENTER

*  COMBINATION CHUCK

(HYDRAULIC+NDEPENDENT)

p35

C11MB-C13M

3-JAW DRAW DOWN CHUCK

p36

. C63MB-CoaM

z SWING LOCK CHUCK

p38



2528 Ty
IG BORE POWER CHUCK
SERERD - F ¢ 50 | KBASHAFR

o @ K

-

rlo

meta . mast MY . ZUEH MM YT e

AHONHI3 43M0d

-« High Gripping Force - High Speed - Light Weight - Durability
—-BWNMEES - SRMEER - BE(ER - AR
- EZhE - RER cBER - THEEHR

Dynamic Gripping Force/zh3& % H/BRUEENST 5 7/8H M M

6500

25000

18000 ‘

) i) )
2 [~ CAH-06 = 16000 = \ CAH-21
T 5000 o — CAH-12 mr 20000
or ™~ ar 14000 r \%
2 4000 212000 [ AT 2 15000 y
[ EEE— CAH-05 3 3
o — o 10000 CAH-15
o 3000 u 8000 T V o CAH-18 T
CAH-08/ R\ 10000 —
2000 6000 AH.32 \\
4000 5000
1000 2000 CAH-24
0 0
1000 2000 3000 4000 5000 6000 7000 8000 1000 2000 3000 4000 5000 6000 7000 500 1000 1500 2000 2500 3000
3|®4:(rpm) s|®4(rpm) 3|H4(rpm)
x 2ol Qe +HS RXI5H7| ol Z|4A L2s| 0|4 JRIAS FYEH0 TN,

X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

M\Spec.A}% : Thru-hole Jaw stroke | p - Gripping Dia(External gripping) | Max. permissible
Order N _O Spmc:llg nose (Diameter) (Diameter) ;;? %GLSEE :_‘i TjokA (| ATIHmm _input force
OHs xz2 DEA(RZ) BAEZIEZE) == 5 Az
ModelsAl T mm mm mm Max |c} Min &2 KN(kg)
CAH-05 1AHO05 - 33 54 10 135 10 17.5(1784)
CAH-06 1AHO6 A2-5 46 55 13 169 13 25(2500)
CAH-08 1AHO8 A2-6 52 76 18 210 " 40(4080)
CAH-10 1AH10 A2-8 77 85 20 254 31 50(5100)
CAH-12 1AH12 A2-8 91 10.2 24 304 34 58(5916)
CAH-15 1AH15 A2-11 118 10.6 23 381 30 71(7240)
CAH-18 1AH18 A2-11 118 10.6 23 450 30 71(7240)
CAH-21 1AH21 A2-11,15 140 10.6 23 530 87 90(9177)
CAH-24 1AH24 A2-11,15 165 104 23 610 110 90(9177)
CAH-32 1AH32 A2-15,20 240 18 34 800 152 100(10193)
Spec.AFY Max. static o Weight
I e ﬂ?x_?ei"}'ﬁij ?&efg (With standrd sof jaws) GD® ' Matching cylinder | Matching hard jaw | Matching soft jaw
Sl Mmmlored | S AISRIET T xmen | Moment of inertia SN o= RMEAE T
Ao Yxmlet £ p.m(min™) SY(EFATE 753 N-mr (Kgf.m) X 2Al2|h M2FIER MRAETE
Model&4l KN(kgf) o ko .
CAH-05 36(3671) 7000 6.7 0.7(0.071) YSH-YAH-05 HJ-04A1 SJ-05T1
CAH-06 63(6426) 6000 125 2.26(0.23) YSH- YAH-06 HJ-06T1 SJ-06T1
CAH-08 94(9597) 5000 22.3 6.67(0.68) YSH- YAH-08 HJ-08T1 SJ-08T1
CAH-10 125(12740) 4200 345 12.84(1.31) YSH: YAH-10 HJ-10T1 SJ-10T1
CAH-12 147(15000) 3300 55.3 28.71(2.93) YSH-YAH-12 HJ-12A1 SJ-12A1
CAH-15 180(18355) 2500 120 89.14(9.09) YSH-15 HJ-15T1 SJ-15A1
CAH-18 180(18355) 2000 164 174.6(17.8) YSH-15 HJ-15T1 SJ-15A1
CAH-21 234(23861) 1700 235 351.1(35.8) YSH-15 HJ-21B1 SJ-21A1
CAH-24 234(23861) 1400 293 651.2(66.4) YSH-15 HJ-21B1 SJ-21A1
CAH-32 240(24464) 1200 530 598.4(61) YSH-21 = =

10 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

SERRATION PITCH 1.5
(CAH-21,24,32 PITCH 3.0) v Q

u v .F—
> B

AMONHD H3Mod

BA
gC
9G
2H
oW
X

|

|

?J

Item&s :

Model8i4] A B C F G H J K L M N max N min
CAH-05 135 60 110 4 96 82.6 33 3-M10 15 14 26.5 238
CAH-06 169 80 140 5) 116 104.8 46 6-M10 12 20 B85 30.7
CAH-08 210 91 170 5 150 1334 52 6-M12 15 25 41.7 379
CAH-10 254 100 220 5 190 1714 77 6-M16 17 30 54.5 50.3
CAH-12 304 115 220 6 190 1714 91 6-M16 18 30 674 62.3
CAH-15 381 133 300 6 260 235 118 6-M20 30 43 82 76.7
CAH-18 450 133 380 6 320 235 118 6-M20 30 43 82 76.7
CAH-21 530 140 380 6 330.2 3302 140 6-M22 34 60 985 932
CAH-24 610 149 380 6 330.2 330.2 165 6-M22 32 60 1084 103.2
CAH-32 800 150 520 6 463.6 463.6 240 6-M24 31 38 5815 1445

Item&= ) :

Model&iAl Omax | Omin | Pmax = Pmin Q R S T U max Vv W X Y Z
CAH-05 19.75 7.75 1 -9 23 10 20 2 M40X1.5 3-M6 45 20 26 54
CAH-06 23 10 12 =1 31 12 19 2 M55X2.0 3-M6 60 20 33 72
CAH-08 27 10 16.5 -15 39 14 20.5 2 M60X2.0 3-M6 66 30 39 95
CAH-10 31 12 95 -105 44 16 27 2 M85X2.0 3-M8 94 30 46 110
CAH-12 42 12 10 -14 50 21 28 2.5 | M100X20 = 3-M8 108 30 518 11
CAH-15 438 18.3 11 -12 62 22 39 5 M130X20 | 3-M10 139 60 70 165
CAH-18 738 18.3 11 -12 62 22 39 5 M130X2.0 | 3-M10 139 60 70 165
CAH-21 875 215 11 -12 65 25 39 5 M155X30 | 3-Mi2 170 80 73 180
CAH-24 1175 215 20 -3 65 25 40 5 M175X3.0 | 3-M12 187 80 73 180
CAH-32 190.6 19.5 29 =5 75 255 40 10.4 | M250X3.0 & 3-M12 | 260 80 83.6 160

% x4 2 Alge olmglo] WA 4 UsLIct

% Specifications are subject to change without notice.

Model Description/Z! 25 Bf/BAF SRR/ AHS HAl

CAH 01 -] CGH O -] CAS O -0 AO

{ Chuck Size Chuck Size i Chuck Size Spindle Nose
Blank | Standard Blank | Standard Blank | Standard
A | adapter type A | adapter type A | adapter type
T | 2-jaw type T | 2-jaw type T | 2-jaw type

D | Direct mount type

www .seoam kr | 11



TASTE TYHOIEE 231F)
BIG BORE POWER CHUCK(WITH ADAPTER)
BEEBIAT ~F v 5 0 (P AT 2—) | KELDHNERE (ERT)

-.DMS-DHE - OfHE BAE . THAZ BE . 8N 23 80

AHONHI3 43M0d

-« High Performance and High Accuracy - Spindle Direct-Mounting Type
» Minimize changing time < Convenient Attachment Option

- SitEE BEE - AEV PIVEER - BEAREREE - RGO T ey
- EE, BES - EEREY - BERTHE - BFRELE

¥ MOl et £2HZ RXIGH| ol 2|4 Y23 0|y 22/AE FUSIH FHUARL,
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M#&/{1EczR/ A S H

M\SPBCN%} Order NO. | Spindle nose NO. (T[r)};un;ggs ‘gg\i’evlrflté?ekr? Qg?%eLs,;fg"g Grippé?&%?(gllig ?Tr}r‘]l?)ln%pping) Mai):ip%?rfrgiriseible
N\ Sl kol FEn4 #SHEA) | ZAERI(RY) | =T ) ) 518 Az

Model&iAl mm mm oY Max Z|c Min |4 KN(kgf)
CAHA-06 1AHAOB A2-5 46 55 13 169 13 25(2500)
CAHA-08 1AHA08 A2-6 52 76 18 210 11 40(4080)
CAHA-10 1AHA10 A2-8 77 85 20 254 31 50(5100)
CAHA-12 1AHA12 A2-8 91 10.2 24 304 34 58(5916)
CAHA-15 1AHA15 A2-11 118 10.6 23 381 30 71(7240)
CAHA-18 1AHA18 A2-11 118 10.6 23 450 30 71(7240)
CAHA-21 1AHA21 A2-11,15 140 106 23 530 87 90(9177)
CAHA-24 1AHA24 A2-11,15 165 104 23 610 110 90(9177)
CAHA-32 1AHA32 A2-15,20 240 18 34 800 152 100(10193)

SpecA}%f Ma’;féﬁ“%ﬂﬁg%fce Maixi[l_irﬂ;siglexjrfed (With stamfgdhioft jaws) Momerﬁ E: inertia Matching cylinder | Matching hard jaw | Matching soft jaw

vosera | Kih | ramimy | S3ueizezs NOEROTER | agye NgsicE | megsEmz
CAHA-06 | 63(6426) 6000 137 2.45(0.25) YSH-YAH-06 HJ-06T1 SJ-06T1
CAHA-08 94(9597) 5000 236 6.90(0.71) YSH-YAH-08 HJ-08T1 SJ-08T1
CAHA-10 125(12740) 4200 40 12.65(1.29) YSH-YAH-10 HJ-10T1 SJ-10T1
CAHA-12 147(15000) 3300 64 30.00(3.06) YSH-YAH-12 HJ-12A1 SJ-12A1
CAHA-15 180(18355) 2500 127 93.55(9.54) YSH-15 HJ-15T1 SJ-15A1
CAHA-18 180(18355) 2000 178 187.30(19.1) YSH-15 HJ-15T1 SJ-15A1
CAHA-21 234(23861) 1700 246 362.83(37.0) YSH-15 HJ-21B1 SJ-21A1
CAHA-24 234(23861) 1400 304 660.94(66.4) YSH-15 HJ-21B1 SJ-21A1
CAHA-32 240(24464) 1200 547 598.4(61) YSH-21 - -

12 | www.seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

SERRATION PITCH 1.5
(CAHA-21,24,32 PITCH 3.0)

[

z
AMONHD H3Mod

PA
?C

—
@

 ltemS
A B © D E B G H J K L M Nmax | Nmin
Model&f4l
CAHA-06 | 169 90 140 82.563 15 5 116 104.8 46 6-M10 16 20 335 30.7
CAHA-08 | 210 103 170 106.375 17 ) 150 1334 52 6-M12 18 25 4“7 379
CAHA-10 | 254 113 220 139.719 18 5 190 1714 77 6-M16 24 30 545 50.3
CAHA-12 | 304 127 220 139.719 18 6 190 1714 91 6-M16 25 30 62.1 56.7
CAHA-15 | 381 149 300 196.869 22 6 260 235 118 6-M20 28 43 82 76.7
CAHA-18 | 450 149 380 196.869 22 6 320 235 118 6-M20 28 43 82 76.7
CAHA-21 | 530 161 380 285.775 27 6 330.2 330.2 140 6-M22 34 60 985 93.2
CAHA-24 | 610 170 | 380 285.775 27 6 330.2 330.2 165 6-M22 35 60 1084 | 103.2
CAHA-32 | 800 186 520 285.777 42 6 463.6 463.6 240 6-M24 31 38 1535 | 1445
emzs
Omax Omin  Pmax Pmin Q R S T U max vV W X Y YA
ModelgAl
CAHA-06 23 10 27 14 31 12 19 2 M55X2.0 3-M6 60 20 33 66
CAHA-08 27 10 335 616 39 14 20.5 2 M60X2.0 3-M6 66 30 39 86
CAHA-10 31 12 275 75 44 16 27 2 MB5X2.0 3-M8 94 30 45 108
CAHA-12 45 15 28 4 50 21 28 2 M100X2.0 3-M8 108 30 5i 111
CAHA-15 | 438 18.3 33 10 62 22 39 5 M130X20 | 3-M10 139 60 70 165
CAHA-18 | 738 18.3 33 10 62 22 39 5 M130X2.0 | 3-M10 139 60 70 165
CAHA-21 | 875 215 38 15 65 25 39 5 M155X3.0 | 3-Mi12 166 80 73 180
CAHA-24 | 1175 | 215 47 24 65 25 40 5 M175X3.0 | 3-M12 187 80 73 180
CAHA-32 | 1906 | 195 71 37 75 255 40 104 | M250X30 | 3-M12 260 80 83.6 160

% Rla 2 ARLIE o mejo] HEE 4 JELICH
% Specifications are subject to change without notice.

www .seoam.kr | 13



AHONHI3 43M0d

3o o

2-F TAZTS e

2-JAW BIG BORE POWER CHUCK
2OMEEPZERNT —F v v ¥ [ REAMMEHAFE2M

x Ho| Q2 £ |X

-+ |y T=E o}

I Y

oIr

- O¥E

- D&

e

-« Clamping of Irregular Work
- High Performance and High Accuracy

- - ERTRYIEE
-« EEARN T4

+ High Speed

t7] flot Zla 23] oy a2|AE TSI FHAIL.

- SlHE. SIRE

- 1EREYT, FREES

I3
X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

« 2ZEV RIVEZER

- BEERR

2

Specifications/M &/t EkFz/ AL E

Spec At . Thru-hole Jaw stroke Gripping Dia(External gripping) Max. permissible
\ Order NO. Sp'”‘;’g MOSe ' (Diameter) | (Diameter) Q‘Q%ef;’;kﬂe Tiorz (2 Zmehmm input force
s man BEY(RFY) ZAERAMNY) T EEEEEE
Model&iAl TS mm mm Max Z|ch Min |4 KN(kgf)
CAHT-06 1AHT06 A2-5 46 55 13 169 13 16.6(1700)
CAHT-08 1AHTO08 A2-6 52 76 18 210 11 26.6(2720)
CAHT-10 1AHT10 A2-8 77 85 20 254 31 33.3(3400)
CAHT-12 1AHT12 A2-8 91 10.2 24 304 34 39(3995)
CAHT-15 1AHT15 A2-11 118 106 23 381 30 47(4793)
\\\\ Spec At ey static aripping force  Maxpermissible speed | LB GD? o ) .
N A0 Yot 3|1 ALBEME (W,'E'; Stfi(f;d ESOﬂ_JfrVS) Moment of inertia Matg] gglgslllll:nder M?fgnj\g:?_ft =
N KN(kgf) r.p.m(min"") e N-m (kgf.m) HES=H NSLEEE
Modeld4l - kg ’
CAHT-06 42(4284) 6000 12.3 2.20(0.22) YSH-YAH-06 SJ-06T1
CAHT-08 63(6398) 5000 21.7 6.86(0.70) YSH-YAH-08 SJ-08T1
CAHT-10 83.3(8493) 4200 337 12.55(1.28) YSH-YAH-10 SJ-10T1
CAHT-12 100(10200) 3300 51 26.47(2.7) YSH:-YAH-12 SJ-12A1
CAHT-15 120(12236) 2500 115 87.25(8.90) YSH-15 SJ-15T1

14 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 = Dynamic Gripping Force/ 513 /28007 5 7/55 1193 H

SERRATION PITCH 1.5 Y o
u v | Q Q
Tl ‘ < 14000 E
[
= m
. EF 12000 G T
j B @]
“:ryﬁl o &r 10000 T
T B ‘ & to CAHT-12 C
I | =z | 8000 [ <Y O
599333 @11 1© — g A
\ 3 ! 6000
L] 5 \$ CAHT-0!
ﬁ = y 4000 [—— 7\\\
CAHT-06
C—T— 1] 2000 ——
0
LBJ 1000 2000 3000 4000 5000 6000 7000
K LF & ®2(rpm)
L]
B8 |

Dimension/R /1T ER/X & 1

Item&HS
) A B C B G H J K L M Nmax Nmin
Model&A!
CAHT-06 169 80 140 5 116 104.8 46 6-M10 12 20 335 30.7
CAHT-08 210 91 170 5 150 1334 52 6-M12 15 25 41.7 379
CAHT-10 254 100 220 5 190 1714 77 6-M16 17 30 545 50.3
CAHT-12 304 115 220 6 190 1714 91 6-M16 18 30 62.1 56.7
CAHT-15 381 133 300 6 260 235 118 6-M20 30 43 82 76.7
ltem&t=
) Omax = Omin | Pmax Pmin Q R S T U max V W X Y z
Model 34!
CAHT-06 23 10 12 -1 31 12 19 2 M55X20 | 3-M6 60 20 33 66
CAHT-08 27 10 16.5 =15 39 14 205 2 M60X20 | 3-M6 66 30 39 86
CAHT-10 31 12 95 -105 44 16 27 2 M85X20 | 3-M8 94 30 45 108
CAHT-12 45 15 10 -14 50 21 28 2 M100X20 & 3-M8 108 30 51 111
CAHT-15 | 4375 | 1825 11 -12 62 22 39 5 M130X20 | 3-M10 139 60 70 165

% R4 U Al olmelo] WA 4 UsLict

¥ Specifications are subject to change without notice.

www .seoam kr | 15



4-Z TAFTY TYY
4-JAW BIG BORE POWER CHUCK
IO MERAEINT ~F v 5 0 | FBLBMEH-REA

XIXFS

AQlE =z

—

AHONHI3 43M0d
o2

-« Clamping of Irregular Work - High Performance and High Accuracy

- Spindle Direct-Mounting Type

- RETIRIER - EMEE AR - REY RLEER
- ERETANTH - M, RS - ERRE

X X{o| @ A

= RAlBH| flai &4

223l 01 J2IA8 FY

S FYSIo FeAL

* It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M#&/{1FR&R/ AL H

C SpecAld _ Thru-hole Jaw stroke Grioping Di ipping) = Max. permissibl
pping Dia(External gripping) permissibie
Order NO. | SPindienose oy eter) (Diameter) | Elunger stroke oA (2| Amehmm input force
orjHs L0 BEAmZ) maszamzm) SoNiEE3 CERCIE
Model&Al FRTA mm mm ax Z/rH Min 24 KN(kgf)
CAHF-08 1AHF08 A2-6 52 76 18 210 25 26.6(2720)
CAHF-10 1AHF10 A2-8 77 85 20 254 31 33.3(3400)
CAHF-12 1AHF12 A2-8 91 10.2 24 304 55 39(3995)
CAHF-15 1AHF15 A2-11 118 10.6 23 381 36 47(4793)
CAHF-18 1AHF18 A2-11 118 106 23 450 36 47(4793)
CAHF-21 1AHF21 A2-15 140 10.6 23 530 74 60(6120)
CAHF-24 1AHF24 A2-15 165 10.6 23 610 94 60(6120)
Spec.AFY . . Weight a . )
Max. static gripping force = Max.permissible speed . ) GD ) . Matching Matching
N A HR Tl 37 AggEs W (sia,’l‘fz_f:"ggg) Moment of inertia Ma‘gj‘gf,gg“ef hardjaw | softjaw
N KN(kgf) r.p.m(min™") 33 (BEAZE R N-m (kgf.m?) o= HEOIER | MRAEEZR
Model Al kg
CAHF-08 58(5845) 4500 23 6.86(0.7) YSH-YAH-08 HJ-08T1 SJ-08T1
CAHF-10 86(8775) 4200 34.7 12.85(1.31) YSH: YAH-10 HJ-10T1 SJ-10T1
CAHF-12 102(10408) 3300 55.7 28.73(2.93) YSH-YAH-12 HJ-12A1 SJ-12A1
CAHF-15 120(12236) 2500 115 87.28(8.9) YSH-15 HJ-15T1 SJ-15T1
CAHF-18 120(12236) 2000 159 165.73(16.9) YSH-15 HJ-15T1 SJ-15T1
CAHF-21 156(15974) 1700 235 351(35.8) YSH-15 HJ-21B1 SJ-21T1
CAHF-24 156(15974) 1400 302 651(66.4) YSH-15 HJ-21B1 SJ-21T1

16 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

SERRATION PITCH 1.5
(CAHF-21,24 PITCH 3.0)

U \

f=]

T
CIcR

il
=]

;
A

AMONHD H3Mod

L1
oC
9G
oH
oW

X

Dynamic Gripping Force/z32& H/EHIIBIEN S 5 7/3HILE M

14000

< 14000 =
[ bo
= =
& 12000 & 12000 E—
£l =) CAHF-21
&L 10000 &) 10000 —
— CAHE-10 —~ CAHF-15
8000 — 8000
ICAHF-18 w
CAHF-12 —
6000 | 6000 \
I CAHF-24 \
4000 4000
CAHF-08
2000 2000
0
1000 2000 3000 4000 5000 6000 1000 2000 3000 4000 5000 6000
3|H4(rpm) 3|84 (rpm)

Dimension/R~f/ER/X ¢+ 1

‘ M;);e@geni?% A B c F G H J K L M Nmax | Nmin
CAHF-08 | 210 91 170 5 150 | 1334 | 52 | 4-Mi2 | 15 25 M7 | 379
CAHF-10 | 254 100 220 5 190 | 1714 | 77 | 4-Mi6 | 17 30 545 | 503
CAHF-12 | 304 115 220 6 190 | 1714 | 91 | 4-Mi6 | 18 30 621 | 567
CAHF-15 | 381 133 300 6 260 | 235 118 | 4-M20 = 30 43 82 767
CAHF-18 | 450 133 380 6 320 | 235 118 | 4-M20 = 30 43 82 767
CAHF-21 | 530 140 380 6 3302 | 3302 | 140 | 4-M22 @ 34 60 985 | 932
CAHF-24 | 610 149 380 6 3302 | 3302 165 | 8-M22 = 32 60 1084 | 1032
MR x| omin | Pmax | Pmn | Q R S T U max v w X Y z
Modelsel
CAHF-08 | 27 | 10 | 165  -15 | 39 | 14 | 205 & 2 | M6OX20  4-M6 = 66 | 30 | 39 | 86
CAHF-10 | 31 12 | 95 | -105 44 | 16 27 2 | M85X20  4-M8 94 | 30 | 45 | 108
CAHF-12 | 45 | 15 | 10 | -14 | 50 | 21 | 28 2 | MI00X20  4-M8 108 | 30 | 51 | 11
CAHF-15 | 4375 1825 11 | -12 | 62 | 22 | 39 5 | MI30X20 6-M10 | 139 | 60 | 70 | 165
CAHF-18 | 7825 1825 11 | -12 | 62 | 22 | 39 5 MI30X20 4-M10 | 139 | 60 | 70 | 165
CAHF-21 | 875 @ 215 11 | -12 | 65 | 25 | 39 4 MI55X30 4-Mi2 | 170 | 80 | 73 | 180
CAHF-24 | 1175 | 215 | 47 | 24 | 65 | 25 | 40 4 MI75X30 | 3-M12 | 187 | 80 | 64 | 180

X Xla S ARS2 ofRlo] HAEE 4~ USLICL

% Specifications are subject to change without notice.

www .seoam.kr | 17



H2EZ 53 BN

GREAT BORE POWER CHUCK
REBEFERNT-F v v o [ BREADHFE

- BEZF sy - Zyst A

e

- M

oIr

gL < L ) S

AHONHI3 43M0d

-« Enlargement of Through Hole
+ Hight Performance and High Accuracy

- Light Weight
- High Speed

- BEEIA - BE(EH - Sl SRE - 26V FLERE
--Brafl -E8R MR KBRS . HiERER

AHS
T%:‘E

X =] oo SX[517] sl 2|4 L28| 014 J2|AS FL5H0) FAUAIR,
¥ |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/ M #&/{LRKR/ AL &

S = 4 USH(RF) "AERIEZF) =57 38 MBin
ModelZAl TR mm mm mm Max 2/ Min 214 KN(k)
CGH-06 1GHO06 A2-5 52 55 13 169 13 25(2550)
CGH-08 1GHO08 A2-6 66 76 18 210 11 38(3900)
CGH-08B 1GHO8B A2-6 72 76 18 210 11 38(3900)
CGH-10 1GH10 A2-8 82 85 20 254 31 50(5100)
CGH-12 1GH12 A2-11 103 10.2 24 315 45 55(5610)
CGH-18 1GH18 A2-15 166.5 115 25 457 75 71(244)
CGH-21 1GH21 A2-15 166.5 10.6 23 530 82 90(9177)
 SpecA B o Weight
p Ma; ﬁtgﬂpﬁl}g g‘rce Mg.f);rﬂggle gc_jied ggh(j-giaé éog ;‘g Momerﬁg: S, Mat;hgi glli:r;der Mati:]:l% }hEar; jaw Ma:;:girf EsoEfthan
Modelaial KN(kgf) r.p.m(min™') kg N-m (kgf.m*) U °
CGH-06 60(6120) 6000 119 2.26(0.23) YSGH-06 HJ-06T1 SJ-06T1
CGH-08 94(9597) 5000 23 5.59(0.57) YSGH-08 HJ-08T1 SJ-08T1
CGH-08B 94(9597) 5000 23 559(0.57) YSGH-08 HJ-08T1 SJ-08T1
CGH-10 120(12240) 4500 32 12.83(1.31) YSGH-10 HJ-10T1 SJ-10T1
CGH-12 145(15000) 3000 48 295 YSGH-12 HJ-12T1 SJ-12T1
CGH-18 180(18367) 2000 170 178 YSHL-21 HJ-15T1 SJ-15A1
CGH-21 220(22460) 1700 228 358 YSHL-21 HJ-21B1 SJ-21A1

18 | www .seoam kr



Outward Drawing/4M U E/ MK/ 218 =

Dynamic Gripping Force/zi3%k

SERRATION PITCH 1.5

(CGH-21 PITCH 3.0)

Y
) \ TFI
|
- ‘Ft,l
EEE B

?2J

12

2y

H/ERHEIED T 5 7 /S5 1t

=

o2 ME

AMONHD H3Mod

18000
16000
14000

S Tet(kgf)

12000
10000
8000
6000
4000
2000

CGH-10

CGH-08 \
CGH-06 T
1000 2000 3000 4000 5000 6000 7000

Dimension/R~t/TER/A ¢ &

2|H2(rpm)

S meta (kgf)

24000

20500

17500

14000

10500

7000

3500

CGH-21

500

1000

1500

2000

2500
&H4(rpm)

3000

| fomEe
A B C F H J K L M N max Nmin O max O min
Model®A
CGH-06 175 81 140 5 104.8 52 6-M10 16 20 36.9 341 21 8
CGH-08 210 91 170 5 1334 66 6-M12 17 25 462 424 2325 10.25
CGH-08B 210 91 190 5 1714 72 6-M12 17 25 4857 | 4475 21 11
CGH-10 254 100 220 5 1714 82 6-M16 17 30 56.27 522 31 12
CGH-12 315 110 300 6 235 103 6-M20 30 30 6864 | 6354 | 4575 1375
CGH-18 457 135 380 6 330.2 166.5 | 6-M22 34 43 109.7 103.9 55 17
CGH-21 530 140 380 6 330.2 1665 | 6-M22 33 60 119 106.6 73.1 136
N ltem&=s
. P max Pmin Q R S T U max v W X Y z
Model&4]
CGH-06 12 -1 31 12 19 2 M60%2.0 3-M6 66 20 335 72
CGH-08 7 =1 39 14 27 2 M75%2.0 3-M6 80 30 39 95
CGH-08B 10 -8 35 14 27 2 M75%2.0 3-M6 88 30 395 95
CGH-10 9i5 =103 44 16 27 2 M90x2.0 3-M8 98 30 45 110
CGH-12 8 -16 49 21 28 25 M112x20 3-M10 124 66 51.3 111
CGH-18 13 -12 62 22 39.0 50 M180x3.0 3-M12 196.5 80 70 165
CGH-21 11 -12 65 25 39 5 M180x3.0 3-M12 1965 80 73 180

x A4 8 M2 o nglo] HEE 4 gLt

% Specifications are subject to change without notice.

www.seoam kr | 19



AHONHI3 43M0d

% Eo| oo £32 2%

sd 538

ko) (OfELef
GREAT BORE POWER CHUCK(WITH ADAPTER)
KEBEREUNAT —F 5 5 5 (7 4T 2—1) | BRBLDNER (AT

Hil%i)

T=o

Sh7| flah &A 23| Ol J2[AS

[ :l_A'I%-ﬂJgE

- it AR

- - BE, A

Zat

TR

. OIStE| B&H

= =

-+ High Performance and High Accuracy
» Minimize changing time

« ZEV RIVEZERY

BEEREY

\
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{THER/ AL E

- MAAIZH EHE

< R

- B Z BRIAHR

- 84 83t 80|

=7

+ Spindle Direct-Mounting Type
- Convenient Attachment Option

ABRISEY I T 5 v

- BTREEE

Spec.AFY ; Thru-hole Jaw stroke Gripping Dia(External gripping) | Max. permissible
Order NO. Splnc’{llg LOSE (Diameter) (Diameter) Qﬁ? %eisérgg iotA (9| ATI2Hmm input force
S xxo BEH(RZ) mAERA(RZE) T 52 Alziez
Model&Al A mm mm Max 2 Min /4 KN(kgf)
CGHA-06 1GHA06 A2-5 53 55 13 169 13 25(2550)
CGHA-08 1GHA08 A2-6 66 76 18 210 11 38(3900)
CGHA-08B 1GHA08B A2-6 72 76 18 210 11 38(3900)
CGHA-10 1GHA10 A2-8 82 85 20 254 31 50(5100)
CGHA-12 1GHA12 A2-11 103 10.2 24 315 45 55(5610)
CGHA-21 1GHA21 A2-15 166.5 10.6 23 530 82 90(9177)
Spec. AI‘%; o o Weight 2
Maf' g gnp_mng 2 Ma_x.permssﬂﬂe sp/e:ed (With standard soft jaws) € . Matching cylinder = Matching hard jaw | Matching soft jaw
. A FHmoE | AT ABIMSE | L . oe ~nsy | Moment of inertia MRAlZICY HSICE HeAETE
KN(kgf) rpmmin) | SO RELEEEER) | Lot o) ess HEs= et
Model&Al - kg
CGHA-06 60(6120) 6000 137 2.45(0.25) YSGH-06 HJ-06T1 SJ-06T1
CGHA-08 94(9597) 5000 236 6.90(0.71) YSGH-08 HJ-08T1 SJ-08T1
CGHA-08B 94(9597) 5000 236 6.90(0.71) YSGH-08 HJ-08T1 SJ-08T1
CGHA-10 120(12240) 4500 40 12.65(1.29) YSGH-10 HJ-10T1 SJ-10T1
CGHA-12 145(15000) 3000 55 295 YSGH-12 HJ-12A1 SJ-12A1
CGHA-21 220(22460) 1700 239 35.8 YSHL-21 HJ-21B1 SJ-21A1

20 | www .seoam kr



Outward Drawing/#M B/ MR/ 2 8 =

o
U SERRATION PITCH 1.5 v Q ]
(CGHA-21 PITCH 3.0) T S
m
uu)
2
SYARS ()]
N T
N C
N (@)
~
38 ¢3%93 % - - - - - -
|
ﬂ ke
/

|[em§3lg

A B C D E F G H J K L M Nmax Nmin
Model%él\\m

CGHA-06 175 91 140 | 82563 15 5 116 | 1048 52 6-M10 16 20 36.9 34.1
CGHA-08 | 210 111 170 | 106375 | 26 5 150 | 1334 66 6-M12 21 25 462 424
CGHA-08B | 210 1M 170 | 106375 | 26 5 150 | 1334 72 6-M12 21 25 4857 | 4475
CGHA-10 | 254 113 220 | 139719 @ 18 5 190 | 1714 82 6-M16 24 30 56.27 522

CGHA-12 | 315 126 300 | 196869 @ 34 6 260 235 103 6-M20 28 30 6864 | 6354

CGHA-21 530 174 380 | 285.77 40 6 3302 | 1665 | 1665 | 6-M22 33 60 1119 | 1066

Item&Hs
Omax = Omin = Pmax P min Q R S T U max \ W X Y z
Model®id
CGHA-06 21 8 12 -1 31 12 19 2 M60X2.0 | 3-M6 66 20 335 72
CGHA-08 | 2325 | 1025 7 -1 39 14 20.5 2 M75X2.0 | 3-M6 80 30 39 95
CGHA-08B & 21 11 10 -8 35 14 27 2 M75X20 | 3-M6 88 30 395 95
CGHA-10 31 12 95 -10.5 44 16 27 2 M90X2.0 | 3-M8 98 30 45 110
CGHA-12 45 1375 8 -16 49 21 30 25 | M112X20 | 3-M10 | 124 66 513 111
CGHA-21 | 731 136 1 -12 65 25 39 5 M180X30 | 3-M12 | 1965 80 73 180

* A4 U A2 o nglo] BHE & LI

% Specifications are subject to change without notice.

www .seoam kr | 21



AHONHI3 43M0d

CGHT/CGHF

% o] o2 £3S

EYCHECTEPN

23] 0l 2|4

2-%, 4-% tfE
2-JAW, 4-JAW GREAT BORE POWER CHUCK
2O, 42MKEBEAHTRINT ~F v » & | BABHAHHER2M, 4N

3 338 oY

g

oIr

‘T

kJ

- e

- - MR, A

S TSI FYAIL.

« WHIAIZE

- B A BHEIATHR

- KSR

¥ It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M#&/{1FR&R/ AL H

T

- 84 23 80|

=

-+ High Performance and High Accuracy
» Minimize changing time

 ERIEAH I A T a v

BT R%ER

» Convenient Attachment Option

Spec. At - Thru-hole Jaw stroke Gripping Dia(External gripping) |~ Max. permissible
Order N_O. Spln(:llg-nose (Diameter) (Diameter) g%n%e;sgtrgg IO (| ATRHmm _input force
O#HE PPy USH(AY)  TAEZI(RY) mm GEREEE
Model&Al o mm mm Max Z|C Min &4 KN(kgf)
CGHT-06 1GHT06 A2-5 52 55 13 169 13 17(1733)
CGHT/CGHF-08 | 1GHT08/1GHF08 A2-6 66 7.6 18 210 11 23.25(2397)
CGHT/CGHF-10 | 1GHT10/1GHF10 A2-8 82 8.5 20 254 31 42(4282)
CGHT/CGHF-12 | 1GHT12/1GHF12 A2-11 103 10.2 24 Bill5) 45 48(4894)
CGHT/CGHF-21 | 1GHT21/1GHF21 A2-15 166.5 10.6 23 530 82 60(6117)
Spec.AF o - Weight 2
Max'. g g"p_pmg e Ma_x.permlssﬂlle izl (With standard soft jaws) €0 o Matching cylinder | Matching hard jaw = Matching soft jaw
S 0 YHzoy HITMNBEHE | oy Cxame xmsy | Moment of inertia AR M=l MRAED
KN(kaf) rpmimin’) | oS BELEERER) L ot ) = = st
Model&Al kg
CGHT-06 38(3875) 6000 125 023 YSGH-06 HJ-06T1 SJ-06T1
CGHT/CGHF-08 58(5955) 5000 23 0.57 YSGH-08 HJ-08T1 SJ-08T1
CGHT/CGHF-10 83(8463) 4500 32 1.31 YSGH-10 HJ-10T1 SJ-10T1
CGHT/CGHF-12 104(10605) 3000 55 295 YSGH-12 HJ-12T1 SJ-12A2
CGHT/CGHF-21 156(15907) 1700 235 351.2(35.8) YSHL-21 HJ-21B1 SJ-21A1

22 | www .seoa

m.Kkr



Outward Drawing/$MUE/AMER/ 2 8 =

SERRATION PITCH 1.5

5 o
(CGHT/CGHF-21 PITCH 3.0) v o
u Vv T Q Q E
T
b :
[ ()]
=L - -
| ° 5 5
= /T a
z
seegzs {I— .
s
I T — \':N
L]
K F
L

Dynamic Gripping Force/z3 & f1/EBHIBIENT 5 7/380YddE Mz

< 14000 < 24000
[T] [
= =
gl': 12000 §F 20500
I3 CGHT/F-12 =3
& 7T
R 10000 R 17500 e
—— N 4
8000 14000
X CGHT/F-10 \
6000 — 10500
I \ CGHT/F-08
4000 — 7000 \
I
CGHT-06
2000 o0/ — 3500
0
1000 2000 3000 4000 5000 6000 7000 1000 2000 3000 4000 5000 6000
3|H4(rpm) 8| H$(rpm)

—
A B C F H J K L M Nmax =~ Nmin | Omax = Omin
Models |
CGHT-06 175 81 140 5 104.8 52 6-M10 16 20 36.9 341 21 8
CGHT/CGHF-08 | 210 91 170 5 1334 66 6/4-M12 17 25 46.2 424 | 2325 | 1025
CGHT/CGHF-10 | 254 100 220 5 1714 82 6/4-M16 17 30 56.39 52 31 12
CGHT/CGHF-12 | 315 110 300 6 235 103 | 6/4-M20 30 30 68.6 63.5 457 137
CGHT/CGHF-21 530 140 380 6 3302 | 1665 | 6/8-M22 33 60 1119 | 1066 | 7341 136
ltem&5
P max Pmin Q R S T U max V W X Y Z
Model&A! <
CGHT-06 12 -1 31 12 19 2 M60X2.0 4-M6 66 20 335 72
CGHT/CGHF-08 7 -1 39 14 27 2 M75X2.0 4-M6 80 30 39 95
CGHT/CGHF-10 9.5 -105 45 16 27 2 M90X2.0 4-M8 98 30 46 110
CGHT/CGHF-12 8 -16 49 21 28 25 M112X20 | 4-M10 124 66 513 11
CGHT/CGHF-21 " -12 65 25 39 5 M175X30 | 4M-12 196.5 80 73 180

X A4 9 AR olnglo] HEE 4 UL,

* Specifications are subject to change without notice,

www .seoam kr | 23



AMINHD 43Mod

-« ZH=Q =
-+ Economical Model
- EMNISETIL

-« 25

X X0 98 482 2

- IAE} M

+ High Speed
- ERbER

XI5t7| el Zl2

A X =
&Y

LY

CLOSED CENTER POWER CHUCK
BEPEWANT—F v v 7 [ PEAHFE

* M5

23| 0fy T2AE

C U S
* Durability
« THAMERER - EiREHER

SERRATION PITCH 1.5

S8 e

¥ =l

w4t

FHAR,

» Compatibility

¥ |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{1 FR&R/ AL S H

(CAS-21~80 PITCH 3.0)

Max. permissible

Spec.Al2 i ipping Di ippi
U omno PR g Wmae CUREEERS et
Model3 Al = =514 T AEZJ(HH)mm mm Max Z/CH Min Z1A CK’NTKEf) B
CAS-04 10104 - 5 15 110 6 4.4(445)
CAS-05 10105 - 5 15 135 15 6.4(647)
CAS-06 1AS06 A2-5 9.2 20 165 19 19(1938)
CAS-08 1AS08 A2-6 88 21 210 23 28(2856)
CAS-10 1AS10 A2-8 8.8 25 254 24 32.5(3315)
CAS-12 1AS12 A2-8 105 30 304 26 415(4233)
CAS-15 1AS15 A2-8, 11 16 35 381 60 81.9(8362)
CAS-18 1AS18 A2-8, 11 16 35 450 140 81.9(8362)
CAS-21 1AS21 A2-11,15 16 35 530 82 81.9(8362)
CAS-24 1AS24 A2-11,15 16 35 610 170 81.9(8362)
CAS-32 1AS32 - 20.6 38 800 211 100(10200)
CAS-40 1AS40 - 30.5 57 1000 330 161(16450)
CAS-50 1AS50 - 30.5 57 1250 330 161(16450)
CAS-63 1AS63 - 48 60 1600 - 180(18367)
CAS-80 1AS80 - 48 60 2000 - 196(20000)
Spec.AtR ic grippi permissi ight (Wi 2 ) ) q ) . )
P o | Mo oot ot M 1] omens o et | MatOing vinder N i | Nl st
Model& Al KN(kg) rpm(min) ATEFESKkg | Nemlkgh.m) Hgda HBII=E HELEZR
CAS-04 12.1(1224) 5000 4 0.196(0.02) YAS - 65 - SJ-04T2
CAS-05 17.7(1791) 5000 6 0.56(0.06) YAS,C,P, T-80 - SJ-05A1
CAS-06 63(6426) 6000 13 1.77(0.18) YAS, C, P, T-100 HJ-06T1 SJ-06T1
CAS-08 80(8160) 4800 25 5.39(0.55) YAS,C, P, T-125 HJ-08T1 SJ-08T1
CAS-10 115(11730) 4100 37 11.17(1.20) YAS,C,P, T-125 HJ-10T1 SJ-10T1
CAS-12 156(16014) 3400 57.3 28.44(2.90) YAS, C, P, T-150 HJ-12A1 SJ-12T1
CAS-15 248(25391) 3040 96 705(7.2) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CAS-18 248(25391) 2710 131 95(9.7) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CAS-21 272(27838) 1940 198 188.2(19.2) YAS, C, P, T-200 HJ-21B1 SJ-21A1
CAS-24 272(27838) 1760 223 67.8(6.92) YAS, C, P, T-200 HJ-21B1 SJ-21A1
CAS-32 240(24490) 900 341 238(243) YASTL-200 HJ-32A1 SJ-32A1
CAS-40 361(36836) 630 670 68(7.03) YAST-245 HJ-40A1 SJ-40A1
CAS-50 361(36836) 500 800 145(14.78) YAST-245 HJ-40A1 SJ-40A1
CAS-63 320(32653) 280 1600 500(50.97) YAST-245 - -
CAS-80 390(39800) 150 3200 - - - -

24 | www seoam Kr



CAS-12
N2

CAS-10

\

CAS-08

N\

@\

o

CAS-05

I —

CAS-04,

1000 2000 3000 4000 5000 6000

3|H4(rpm)

Dimension/R~/1ER/X ¢ 1

36000
32000

28000

S5 Tiet2i (kgf)

24000
20000
16000
12000
8000
4000

| CAS-32
wk CAS-21

TA%N

CAS-15

\h’

D\

CAS-24 CAS-18

1500 2000 2500 3000 3500 4000
8|84 (rpm)

45000

40000
35000

S Tjote (kef)

30000
25000
20000
15000
10000

5000

CAS-40 —|

CAS-50

100 200 300 400 500 650
8|84 (rpm)

o ltemES
~_ A B C F G H J K L M Nmax Nmin

Model&A
CAS-04 110 52 60 6 - 80 - 3-M8 16.5 14 26 235
CAS-05 135 52 80 7 - 100 - 3-M8 16.5 19 32 295
CAS-06 169 74 140 5 116 104.8 23 6-M10 14 20 41 36.7
CAS-08 210 85 170 5 150 1334 28 6-M12 15 23 46.3 419
CAS-10 254 89 220 5 190 1714 34 6-M16 18 30 511 46.7
CAS-12 304 106 220 6 190 1714 39 6-M16 18 30 61 55.7
CAS-15 381 114 300 6 260 235 27 6-M20 20 43 73 65
CAS-18 450 114 300 6 260 235 27 6-M20 20 43 106.5 98.5
CAS-21 530 125 380 6 330 330.2 27 6-M22 26 60 86 78
CAS-24 610 125 380 6 330 330.2 27 6-M22 26 60 1245 116.5
CAS-32 800 150 380 6 - 330.2 - 6-M24 31 76.2 88 777
CAS-40 1000 180 520 8 - 510 - 6-M24 34 100 145 129.8
CAS-50 1250 180 520 8 - 4536 - 6-M24 32 100 145 129.8
CAS-63 1600 220 720 8 - 648 - 6-M30 46 - - -
CAS-80 2000 250 720 10 - 1120 - 6-M30 58 1524 - -

I ltem¥= .

S Omax = Omin | Pmax | Pmin Q R S T u Vv W X Y z

Model&d4l
CAS-04 10 7 5 -10 25 10 25 3 M10X1.5 - 25 - 27 54
CAS-05 11.5 7 9 -6 25 10 36 3 M12X1.75 - 28 - 27 585
CAS-06 13 7 1015 | 815 31 12 36 4 M16X2.0 3-M6 32 32 35 72
CAS-08 22.5 9 127 106 39 14 36 5 M20X2.5 3-M6 38 38 43 95
CAS-10 30.7 112 158 133 44 16 36 5 M20X2.5 3-M8 38 44 50 110
CAS-12 487 12.7 163 133 50 18 36 5 M20X2.5 3-M8 38 50 54 111
CAS-15 54.7 15.7 104 69 50 255 55 6 M30X3.5 3-M10 55 60 60 135
CAS-18 485 232 92 57 50 255 & 6 M30X3.5 3-M10 55 60 60.3 135
CAS-21 935 27.5 97 62 65 25 55 6 M30X3.5 3-M12 55 60 7 180
CAS-24 935 275 97 62 65 25 65 6 M30X3.5 3-M12 55 60 7 180
CAS-32 - - 35 -3 75 255 60 8 M30X3.5 - 55 114 83 165
CAS-40 - - 53 =8 98 30 65 -4 M36X4.0 - 60 - 106 200
CAS-50 - - 35 -22 98 30 68 -4 M36X4.0 - 60 - 106 200
CAS-63 - - 13 -47 - - - - M36X4.0 - - - - -
CAS-80 - - 23 -37 110 30 68 -4 M42X4.5 - 66 - 105 270

% CAS-322IX|0[&2 Soft JawHM A7t Key TypeLICh,
* Soft jaw for lager size than CAS-32 : Key Mount Type.

X K|4 A AL ol 1ol
% Specifications are subject to change without notice.

www .seoam kr | 25

HEE » ASHCL

AMONHD H3Mod



AMINHD 43Mod

x Mol @ &

= RAlst7| flall 24

IE&FHY

IH (ORI E

Hxl-—d)

To

CLOSED CENTER POWER CHUCK(WITH ADAPTER)
ERPRENT —F v v (T LT 241 | PLHAFE (GEHEE)

25| O|A T2|AE

~ - OltE| B2

-« 2V FIVERER < Bl

- HERERY

I FYAIL,

« WHAIZH

i

-+ Spindle Direct-Mounting Type
« High Performance and High Quality < Convenient Attachment Option

CHERGE - MEER, REN

X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /M #&/{1EER/ ALY

R HE

Y5 -1 -S4 BEE
+ Minimize changing time

- At

S

BT R&ER

80|

- FERSERS A T a v

 SpeoMy Spindle nose Jaw stroke Plunger stroke Gripping Dia(External gripping)  Max. permissible
Order NO. NO (Diameter) =2y AE2] njotA (2| Z e mm input force
2OHs £32 EAERI(EF) | 55 = o1& MzicfE
Model&iAl =ma mm mm e Min /4 KN(kgf)
CASA-06 1ASA06 A2-5 9.2 20 165 19 19(1938)
CASA-08 1ASA08 A2-6 88 21 210 23 28(2856)
CASA-10 1ASA10 A2-8 88 25 254 24 32.5(3315)
CASA-12 1ASA12 A2-8 105 30 304 26 415(4233)
CASA-15 1ASA15 A2-11 16 35 381 60 81.9(8362)
CASA-18 1ASA18 A2-11 16 35 450 140 81.9(8362)
CASA-21 1ASA21 A2-11,15 16 35 530 82 81.9(8362)
CASA-24 1ASA24 A2-11,15 16 35 610 170 81.9(8362)
SpecAR | pax, static gripping force ' Max.permissible speed Weight GD? ) ) ) ) Matching
N H BEmole | A7 Agama | Wsendrosotiaw) o e g | Matching cylinder Matching hard jaw o
KN(Kf) (min-) 3Y (EFAZE 373 ) ) HM2Alzih M= N
Model&iA g r.p.m(min kg N-m (kgf.m?) HEAEZ
CASA-06 63(6426) 6000 14 1.96(0.20) YAS, C,P, T-100 HJ-06T1 SJ-06T1
CASA-08 80(8160) 4800 27 5.79(0.59) YAS, C,P, T-125 HJ-08T1 SJ-08T1
CASA-10 115(11730) 4100 40 12.84(1.31) | YAS,C,P,T-125 HJ-10T1 SJ-10T1
CASA-12 156(16014) 3400 66 2952(301) | YAS,C,P,T-150 HJ-12A1 SJ-12A2
CASA-15 248(35391) 3040 96 70.5(7.2) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASA-18 248(35391) 2710 131 95(9.7) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASA-21 272(27838) 1940 198 188.2(19.2) | YAS,C,P,T-200 HJ-21B1 SJ-21A1
CASA-24 272(27838) 1760 223 67.8(6.92) YAS, C, P, T-200 HJ-21B1 SJ-21A1

26 | www seoam Kkr



Outward Drawing/MEYE/ MR/ 2 &8 =

S P SERRATION PITCH 1.5 8
v (CASA-21,24 PITCH 3.0) Q E
| =
iy
] Tt
=
l I N %
¢le ° A
| z
3 @ x
I| <
e &
U
% {
?
A
2
K
Dimension/R~}/1E&R/X ¢ &
ltem&t=
A B c D E F G H J K L M Nmax Nmn

ModelZA!

CASA-06 169 84 140 | 82563 15 5 116 | 1048 23 6-M10 14 20 4 36.7
CASA-08 | 210 97 170 | 106375 | 17 5 150 | 1334 28 6-M12 18 25 463 419
CASA-10 | 254 102 220 | 139719 | 18 5 190 | 1714 34 6-M16 25 30 511 46.7
CASA-12 | 304 118 220 | 139719 | 18 6 190 | 1714 39 6-M16 25 30 61 55.7
CASA-15 | 381 130 300 | 196869 & 22 6 260 235 27 6-M20 23 43 73 65

CASA-18 | 450 130 300 | 196869 = 22 6 260 235 27 6-M20 23 43 106.5 98.5
CASA-21 530 146 380 | 196869 & 27 6 3302 | 3302 27 6-M22 28 60 86 78

CASA-24 | 610 146 380 | 196869 @ 27 6 3302 | 3302 27 6-M22 28 60 1245 17

ltem&=
Omax = Omin | Pmax =P min Q R S T u Vv W X Y z
Model®iy

CASA-06 13 7 865 | 665 31 12 36 4 M16X20 | 3-M6 32 32 35 72
CASA-08 | 225 9 110 89 39 14 36 B M20X25 | 3-M6 38 38 43 95
CASA-10 | 307 1.2 140 115 44 16 36 5 M20X2.5 | 3-M8 38 44 50 110
CASA-12 | 487 127 145 115 50 18 36 ) M20X2.5 | 3-M8 38 50 54 11
CASA-15 | 547 15.7 82 47 50 255 55 5 M30X35 | 3-M10 55 60 60 135
CASA-18 | 485 232 70 35 50 255 55 ) M30X35 | 3-M10 & 60 60.3 135
CASA-21 935 275 70 35 65 25 55 6 M30X35 | 3-M12 55 60 7 180

CASA-24 | 935 275 70 35 65 25 53 6 M30X35 | 3-M12 55 60 Al 180

X A4 2 AR olnglo] HEE 4 gL,

% Specifications are subject to change without notice.

www .seoam.kr | 27



AHONHI3 43M0d

x Ho| o2 432

RAI5H7| 2l Z|a

23| o)y J2|A

TASNY T
CLOSED CENTER COMBINATION CHUCK(Hydraulictindependent)
BENER D~ F v o2 (74T 8—f)) | PRENFR (THR)

g 75

- 0N =EH

-+ Fine control type

— - PYHEERERA

- - FEEEER

AR,

- NA&S A c Y EE -3EY
- High Speed - Durability
cEEEEE - AR - TR
C RER * THEEHR - FRBE M

X It is recommended to grease chucks at least twice a day in order to maximize longevity.

H

» Compatibility

Spec.AFY¥ Jaw stroke Gripping Dia(External gripping) Max. permissible
Order NO. | Spindle nose NO. =~ (Diameter) gg?%e&sltzr%kie nfotA(elZmfet)mm input force
2U{HE FE14 ZAERIEE) | ST 53 Azici
Model&Al mm Max |Cf Min Z|4 KN(kgf)
CAS-32HC 1AS32HC - 30+(30) 38 800 296 119(12232)
CAS-40HC 1AS40HC - 46+(30) 57 1000 187 161(16450)
CAS-50HC 1AS50HC - 46+(30) 57 1250 187 180(18367)
CAS-55HC 1AS55HC - 46+(30) 60 1400 283 200(20398)
CAS-63HC 1AS63HC - 48+(40) 60 1600 320 196(20000)
Spec. AFY o Max.permissible Weight . )
Ma;lstt; t%%r(ngir;g}gce speed (With standard soft jaws) M (?D finertiq | Matching cylinder Matching hard jaw Mag:r_ung
g | BTAesEs  sy@ssmezmy MO0 R mgya ST iy
Model&A! ¢ r.p.m(min"') kg Wbl e
CAS-32HC 214(21916) 800 350 601.9(61) YASTL-200 HJ-32A1 SJ-32A1
CAS-40HC 320(32653) 630 670 1721.8(174.5) YAST-250S HJ-40A2 SJ-40A2
CAS-50HC 320(32653) 500 800 2169(220) YAST-250S HJ-40A2 SJ-40A2
CAS-55HC 359(36710) 450 1280 2760(280) YAST-250S HJ-40A2 SJ-40A2
CAS-63HC 358(36600) 400 1900 4930(500) YAST-250S HJ-40A2 SJ-40A2

28 | www .seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

T Y
Aino = N
el =3 4=
g8
5 o
[ i
ST z
3853 E
=5
K |Y
Lﬂﬂj
L]
B I"l’
&
B 9

Dynamic Gripping Force/zie & H/BHHEESST 5 7/ 8 ntote Mz

(m R G AURCRGRUAGE RS

V4

N

i

N

S5 nrore (kgf)

36000

32000

28000

24000

20000

16000

12000

8000

4000

Dimension/R~t/TER/A ¢+ &

1500

\ CAS-40HC
I “
“\ CAS-32HC
250 500 750 1000 1250
&|H4(rpm)

S5 Tier2d (kgf)

37000

30000

25000

20000

15000

10000

5000

:\\
- / \ CAS-55HC
CAS-50HC \Vi
AW
CAS-63HC \

100

200

300 400 500

600

3|H4(rpm)

oA B c F G H J K L M Nmax | Nmin
CAS-32HC | 800 150 | 380 6 - | 3302 - 6-M24 30 762 172 | 1255
CAS-40HC | 1000 = 180 | 520 8 - | 4836 - 6-M24 32 1524 207 154
CAS-50HC | 1250 & 180 | 520 8 - | 4636 - 6-M24 32 1524 207 154
CAS-55HC | 1400 = 180 | 720 8 - 6476 - 9-M30 50 1524 207 154
CAS-63HC | 1600 = 240 | 1020 8 - 956 - 9-M30 50 1524 251 227
VodelaiA ¥ Omax Omin | Pmax  Pmn  Q R S T U v w X y z
CAS-32HC | - - 3 | -3 | 75 | 255 | 65 | 11 | M30X35 = - | 55 | 114 83 | 165
CAS-40HC | - - 3 | -25 110 30 68 0 | M36X40 - | 60 - 110 | 270
CAS-50HC | - - 35 | -25 | 110 | 30 68 | -4 | M3BX40 - | 60 - | 106 | 270
CAS-55HC | - - 3 | 25 110 30 68 | -4 | M3BX40 - | 60 - | 106 | 270
CAS-63HC | - - 67 7 110 | 30 68 |« -6 | M3BX40 - | 60 - 104 | 270

x A4 9 AR olnglo] HEE 4 UL,

* Specifications are subject to change without notice,

www.seoam kr | 29

AMONHD H3Mod



AMINHD 43Mod

o O K

SEFRE

AR =
£34d 1

¢l (Direct

Mount type)

LOSED CENTER POWER CHUCK (Direct Mount type)
BAD—~Fyy 0 | PREHER

x Ho| QU £HS SX517| s FA
X It is recommended to grease chucks at least twice

23| ol a2|AE TS

Specifications/M & /{1 E&R/ AL H

-« A=l me . &35
-+ Economical Model

- IRFHISETIV - EE(bER

— o 42 H

T

to FHAIL,

a day in order to maximize longevity.

uE TN s

- High Speed - Durability
« TRARER - BR4RER
* THEER i N

.38 e

» Compatibility

- . fpec.)\}%} Order NE. Spindle nose NO. Jagsléroﬁk;(g?ﬂg;e 1 g%n%erﬁséroﬂkg GrippjiLr;&g?gl—Zg;r}r;)lmggpping) ms)l(ﬂ rf)g:gjsi{b_‘lg
I 20Uz R mm mm . . Al2IH2] KN(kgf)
Model&A! Max Z|cH Min &[4
CAS-15 A8 1AS15A8 A2-8 18.6 35 381 60 735(7438)
CAS-15 A11 1AS15A11 A2-11 18.6 35 381 60 735(7438)
CAS-18 A8 1AS18A8 A2-8 18.6 35 457 60 735(7438)
CAS-18 A1 1AS18A11 A2-11 18.6 85 457 60 735(7438)
CAS-21 A1 1AS21A11 A2-11 186 35 530 110 98.1(9927)
CAS-21 A15 1AS21A15 A2-15 186 85 530 110 98.1(9927)
CAS-24 A11 1AS24A11 A2-11 18.6 35 610 110 98.1(9927)
CAS-24 A15 1AS24A15 A2-15 186 35 610 110 98.1(9927)
Model8iA] KN(kgf) r.p.m(min™) kg N-m (kgf.m) < e

CAS-15 A8 147(14876) 2100 98 69.6(7.12) YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-15 A11 147(14876) 2100 98 69.8(7.12) YAS, C, P, T-200 HJ-15A1 SJ-15A2
CAS-18 A8 147(14876) 1700 132 135.32(138) | YAS,C, P, T-200 HJ-15A1 SJ-15A2
CAS-18 A11 147(14876) 1700 132 135.32(138) | YAS,C, P, T-200 HJ-15A1 SJ-15A2
CAS-21 A1 194(19632) 1500 195 268.68(27.4) | YAS,C,P, T-200 - SJ-21A2
CAS-21 A15 194(19632) 1500 195 268.68(274) | YAS,C,P, T-200 = SJ-21A2
CAS-24 A11 194(19632) 1200 250 456.2(46.52) | YAS,C,P,T-200 - SJ-21A2
CAS-24 A15 194(19632) 1200 250 456.2(46.52) | YAS,C, P, T-200 = SJ-21A2

30 | www.seoam kr



Outward Drawing/#MEUE/AMER/ 2 8 = Dynamic Gripping Force 53 2,1/ MEEN 7 7 7 /5809 =

s P
e SERRATION PITCH 3 T
= =
< 24000
Jll Ez::: :_Ef ‘ %
& 20500 ‘
= i T~ s o
e ° = 17500 T
S—=F L B
i [ = . \\}x& c
° " | z 14000 % o
EER I S 10500 .
ISIERS [ Q\\ CAS-15
] | 7000 N
/ 3500
o x
500 1000 1500 2000 2500 3000
31H4(rpm)
L B

(CAS-15, 18, 21, 24)

Dimension/R~f/TER/X T+ &

—
A B C D E F G H J K(ANSI) KIS) L(ANSI)
Model&4l

CAS-15 A8 381 125 225 139.714 20 2421 | 85725 | 17145 8 5/8-11UNC | 6-M16 24
CAS-15 A11 381 125 280 196.864 20 29.36 117.5 235 10 | 3/4-10UNC | 6-M20 23
CAS-18 A8 457 125 225 139.714 20 2421 | 85725 | 17145 8 5/8-11UNC | 6-M16 24
CAS-18 A11 457 125 280 196.864 20 29.36 117.5 235 10 | 3/4-10UNC | 6-M20 23
CAS-21 A1 530 140 280 196.864 20 29.36 1175 235 10 | 3/4-10UNC | 6-M20 334
CAS-21 A15 | 530 140 380 285.763 22 35.71 165.1 330.2 10 7/8-9UNC 6-M22 354
CAS-24 A1 610 140 280 196.864 20 29.36 117.5 235 10 | 3/4-10UNC | 6-M20 334

CAS-24A15 | 610 140 380 285.763 22 35.71 165.1 330.2 10 7/8-9UNC 6-M22 354

I Ft\er\nz}% LWIS) N max N min O max O min P max P min S T u X
Modelg4)

CAS-15 A8 225 745 65.2 545 215 35 0 50 175 M27X3.0 63
CAS-15 A1 26 745 65.2 545 215 35 0 50 175 M27X3.0 63

CAS-18 A8 225 745 65.2 905 215 35 0 50 175 M27X3.0 63
CAS-18 A1 26 745 65.2 905 215 35 0 50 175 M27X3.0 63
CAS-21 A11 31 101.5 922 1005 21.5 35 0 55 220 M30X3.5 75
CAS-21 A15 32 1015 922 100.5 215 35 0 55 220 M30X3.5 75
CAS-24 A11 31 101.5 922 1365 215 35 0 55 220 M30X3.5 75
CAS-24 A15 32 101.5 922 136.5 21.5 35 0 65 220 M30X3.5 75

X X|4 9 A2 0lDglo] HBE 4 Ut

% Specifications are subject to change without notice.

www .seoam kr |31



AHONHI3 43M0d

% 20| o 32

FAIGH7| 2ol =l

TESAY o E (U W)
CLOSED CENTER POWER CHUCK(Dust proof and Water proof)
ERFRENT —F v o 7 (BFELRAE) / PRI HFE FHEFFHK)

=

223] o1y a2|AS5

~ - OfEtE} B2

— - BhEE L Bh
-« REE

ZUsto] FAAIL.

- MEREIL, REBYF

- BHAZ B

-+ Spindle Direct-Mounting Type
« High Performance and High Quality < Convenient Attachment Option
* Dust proof and Water proof

- B A el

X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{1 EFR/ AL E

Xl

‘J_'—}<L'>1 -EE

oIr

- Eitee &RE

- BTRZER

- 84 23 80|

=

+ Minimize changing time

TR

 BHBEAS I AT 5 v

SpecAle o Spindle nose Jayv stroke Plunger stroke Gripping Dia(External gripping) Ma?(. permissible

Model&4l EarE mm mm Max Z{cj Min 5|4 KN(kgf)
CASVA-10 1ASVA10 A2-8 8.8 25 254 24 325(3315)
CASVA-12 1ASVA12 A2-8 10.5 30 304 26 41.5(4233)
CASVA-15 1ASVA15 A2-8, 11 16 35 381 60 81.9(8362)
CASVA-18 1ASVA18 A2-8, 11 16 35 450 140 81.9(8362)
CASVA-21 1ASVA21 A2-11,15 16 35 530 82 81.9(8362)
CASVA-24 1ASVA24 A2-11,15 16 35 610 170 81.9(8362)

o N o i i

SpeCAlJ Ma;lstlﬁng gpgl}gfg(;‘rce Ma;;i_irrzﬁgmgf ??E:ed %Waij h éﬁ%ﬁi}g@ Momencfrc)l: S Mat;hg; %/Eder Mat():;:igg3 FEar;iaw hggtf::?;r\:_vg

Mode/aly KN(kgf) r.p.m(min™") ko N-m (kgf.m?) MEAEIZR
CASVA-10 115(11730) 4100 40 12.84(1.31) YAS,C, P, T-125 HJ-10T1 SJ-10T1
CASVA-12 156(16014) 3400 66 29.52(301) | YAS,C,P, T-150 HJ-12A1 SJ-12A2
CASVA-15 248(35391) 3040 96 705(7.2) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASVA-18 248(35391) 2710 131 95(9.7) YAS, C, P, T-200 HJ-15A3 SJ-15A3
CASVA-21 272(27838) 1940 198 188.2(19.2) YAS, C,P, T-200 HJ-21B1 SJ-21A1
CASVA-24 272(27838) 1760 223 67.8(6.92) YAS, C, P, T-200 HJ-21B1 SJ-21A1

32 | www.seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

AMONHD H3Mod

Dimension/ R~/ EK/X + 1

ltem&t=
A B C D E F G H K M N max Nmin O max O min

ModelZA!

CASVA-10 | 254 84 220 | 139719 | 26 5 190 171 6-M16 | 30 51.1 46.7 30.7 1.2
CASVA-12 | 304 100 220 | 139719 | 26 6 190 171 6-M16 | 30 61 55.7 48.7 12.7
CASVA-15 | 381 108 300 | 196869 @ 33 6 260 235 | 6-M20 | 43 73 65 54.7 15.7
CASVA-18 | 450 108 300 | 196869 | 33 6 260 235 | 6-M20 | 43 106.5 985 485 232
CASVA-21 | 530 119 380 | 285775 | 40 6 3302 @ 330 | 6-M22 | 60 86 78 935 275

CASVA-24 | 610 119 380 | 285775 40 6 3302 @ 330 | 6-M22 @ 60 1245 17 935 27.5

ltem&t=2
Pmax  Pmin = Q R S T u v W X Y z Z1 z2 Z3
Modelgqg\

CASVA-10 | 160 135 44 16 36 5 M20X25 | 3-M8 38 32 50 110 14 40 | 2-M10
CASVA-12 | 165 135 50 18 36 5 M20X2.5 = 3-M8 38 38 54 111 14 40 | 2-M10
CASVA-15 | 109 74 50 255 55 5 M30X35 | 3-M10 | 38 44 60 135 22 80 | 2-M12
CASVA-18 | 109 74 50 255 55 5 M30X35 | 3-M10 | 55 50 603 135 22 80 | 2-M12
CASVA-21 | 111 76 65 25 55 6 M30X35 | 3-M12 | 55 60 7 180 22 80 | 2-M12

CASVA-24 | 111 76 65 25 55 6 M30X35 | 3-M12 | 55 60 7 180 22 80 | 2-M12

X X|4 9 ARSS 01Dgl0] R & ULt

% Specifications are subject to change without notice.

www seoam kr |33



2-% TAZUE TN
2-JAW CLOSED CENTER POWER CHUCK
2O MERAERNT ~F v 52 | DR HEE2M

gy

ot
ot
HL

L DMs - DFE -

AHONHI3 43M0d

—+ Clamping of Irregular Work

« High Performance and High Accuracy - Compatibility

- EFITIRYHER - SMEE SRE - 26V FIVERE
-« REANTIH - 4EEE, RES - EERER

Dynamic Gripping Force 52,1 BN 7 7 /5819 A=

SERRATION PITCH 1.5

12000

10000
CAST-12

S5 1otz (kgf)

8000

CAST-10

6000

|/

oW

\\<

CAST—P\

4000

30*

2000

1000 2000 3000 4000 5000 6000
8|M2(rpm)

Iry
t—

=o| ol 2HS QAI5H| sl A U2s| 0] T2|AS FUGH0 AL,
It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M &/t EkFR/ AL E

 Spec Aty . Jaw stroke Plunger stroke Gripping Dia(External gripping)  Max. permissible
Ogrdéru{'\lio' Sp'nﬂirﬁsﬁ L8 (Diameter) E8M AER3 ojera (el gmtemm input force/&2
Model&Al = T T AEZI(XA)mm mm Max i Min Z|4 A2ICE KN(kgf)
CAST-06 1AST06 A2-5 92 20 165 19 12.6(1279)
CAST-08 1AST08 A2-6 88 21 210 23 18.6(1885)
CAST-10 1AST10 A2-8 88 25 254 24 21.6(2187)
CAST-12 1AST12 A2-8 10.5 30 304 26 27.6(2793)
Spec. AR | Max. static gripping force | Max.permissible speed | Weight (With standard softjaws) GD? ’ ) ) )
2} &= mfotz] A AIBS|M4 | FY(EEAZE FXH)  Moment of inertia Mat;c‘mglglll__?der Miﬁfg’j?g‘;f‘ﬁlaw
Model&iAl KN(kgf) r.p.m(min") kg N-m (kgf. m) ess et
CAST-06 41.9(4241) 4300 125 1.67(0.17) YAS, C,P, T-100 SJ-06T1
CAST-08 53.2(5385) 3600 24 5.20(0.53) YAS, C, P, T-125 SJ-08T1
CAST-10 76.5(7742) 3100 355 11.47(1.17) YAS,C,P, T-125 SJ-10T1
CAST-12 104.4(10569) 2500 60.5 27.75(2.83) YAS, C, P, T-150 SJ-12A2

Dimension/R /T &&K/X+ &

o llem¥E|

o alB|c|Fla|H]|U]|K
CAST-06| 169 | 74 | 140 | 5 | 116 |1048| 23 |6-Mi0
CAST-08/ 210 | 85 | 170 | 5 150 |1334| 28 |6-Mi2
CAST-10/ 254 | 89 1220 | 5 190 |1714| 34 |6-Mi6
CAST-12/ 304 | 106220 | 6 190 1714 39 6-Mip

L
14
15
18
18

M
20
25
30
30

41 1367

61

13

463419225 9
51.1146.7 307 11.2| 158
55.7 487 12.7 | 163

Nmax [Nmin | Omax Omin Pmax | P min

7 1015815
127 | 106
133

133

Q
31
39
44
50

R S T Umax V

12 | 36 | 4 |M16X20 3-M6
14 | 36 | 5 | M20X25 3-M6
16 | 36 | 5 | M20X25|3-M8
18 | 36 | 5 | M20X25 3-M8

W
32
38
38
38

X
32
38
44
50

Y
36
43
50
54

z
72
9
110
111

34 | www_seoam Kkr



4-Z DASNE B

c AS F / H c 4-JAW CLOSED CENTER COMBINATION CHUCK(HYDRAULIC+INDEPENDENT)

4D ERTER AT ~F ¢ 52 | DEFEHFRA

- OIFBAE Tt - TYS, NUE

— -+ Clamping of Irregular Work
- High Performance and High Accuracy

-« EFITIRYHER - Sitee. SR
- REAMNIA - e, BES

Dynamic Gripping Force 5321/ N 77 /55192 4=

|

37000

30000
\ CASF-40HC
25000

=
]

il

fulufnTTululi

S5 met (kef)

u;
=%
o]

- . m 20000
I§§§4 — i \\\
< ¢z Eg 15000 N
v/ e l M CASF-63HC
=t 123 | 10000
K | 5000
L_,
100 200 300 400 500 600
< 2| HM4(rpm)
[N
B
Specifications /3 #&/{LkzR/ AL H
- Spec Al . Jaw stroke Plunger stroke Gripping Dia(External gripping) | Max. permissible
Ofradéiﬁ’\g' Spmge%rﬁs,_‘? NO. (Diameter) E8M AEZ3 merg (2 meimm input force/ o1&
Model®Al ZAEZI(AZ)mm mm Max Z|cH Min &[4 AlRIH 3 KN(kgf)
CASF-40HC 1ASF40HC - 46+(30) 57 1000 187 161(16450)
CASF-50HC 1ASF50HC = 46+(30) 57 1250 187 180(18367)
CASF-63HC 1ASF63HC - 48+(40) 60 1600 320 196(20000)
MW\Spec.AF%! Max. static gripping force = Max.permissible speed | Weight (With standard soft jaws) GD? ) ' ) : . :
Ao Yxmoi HAM8SML | FY(EEAZE ZTF) | Moment of inertia Mat%hgiglgder Matggg%FEagjaw M%cglggsozftgjiaw
Model®Al KN(kgf) r.p.m(min") kg N-m (kgf.m)
CASF-40HC 320(32653) 630 710 1721.8(174.5) YAST-245 HJ-40A2 SJ-40A2
CASF-50HC 320(32653) 500 860 2169(220) YAST-250S HJ-40A2 SJ-40A2
CASF-63HC 358(36600) 400 1960 4930(500) YAST-250S HJ-40A2 SJ-40A2

Dimension/R~t/TER/A+ &

ooy ™% A B C F H J K L M NmeNmnOmx Omh Pmax Pmn Q@ R S T U W X Y Z

CASF-40HC | 1000| 180 | 520 | 8 | 4636 | - |6-M24| 32 | 762 | 207 | 154 | - - | 3 |-25/ 110 | 30 68 | 0 |M36x40 60 | - 110270
CASF-50HC | 1250 | 180 | 520 | 8 | 4636 | - 8-M24| 32 | 762 207 | 154 & - - | 3 | -25| 110 | 30 68 | -4 M36x40 60 = - | 106 270
CASF-63HC | 1600 | 240 | 1020/ 8 | 956 | - |9-M30| 50 | 762 | 251 | 227 | - - | 67 7 | 110 30 68 | -6 M36x40 60 | - 104|270

X Xl B AISEZ oflmglo] HAHE 4~ UG
% Specifications are subject to change without notice.

www seoam kr | 35

AMONHD H3Mod



AHONHI3 43M0d

X Ho| @e 2HS FAISH7] Hall £l L23] 0l J2|A

- - kgl mot
- CIMBE 2R29| 91232 Tl 0|0, CIaM 2 ZS niolste 7xL,

-« RTICiE

= =ol5
s Yo

3-ZEERLCIR X
3-JAW DRAW DOWN CHUCK
3DOMRA=490F v v | BREIIMEB=TRHFE

-« Stable Clamping
« C1IMB chuck is to clamp outer diameter of work piece, and C13M chuck is to clamp inner diameter.

+ C1IMB R THIHIMIEE, CIOMRERTHIHNRIEER

- ZENAZ
« C1IMB 7 v » R TIFMOANEZIEET AIBET, C1OMF v » VIARZIEET ABETT.

to FHAIL,

-Ci2X 8

» Multiple Utilities

it a2

X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{1 EFR/ AL E

Gripping Dia(External gripping)

Max. permissible

NG BT vl i AECELET o ioce
o mm mm Max Z/c Min Fl4 KN(kgf)
C11MB-04 11904 5 7 110 18 59(601.8)
C11MB-05 11905 5 7 130 25 9.8(999.6)
C11MB-06 11906 72 10 165 35 14.7(1499)
C11MB-08 11908 72 10 210 40 24.5(2499)
C11MB-10 11910 108 15 254 50 34.3(3499)
C11MB-12 11912 108 15 304 50 44.1(4498)
Spec. Al L o o ; )
Maglsﬂlﬂatl’cggpgllgg.rce Ma;?ﬂg!rgg:ed Mggt(ggfggggﬁ] Momenctalzf inertia Ma‘ﬁfgﬂ.iy,"[?der Ma;tfglggsggj;w
TN KN(kgf) r.p.m(min”") kg N-a (kgf.m) eEE e
C11MB-04 10.3(1051) 7000 45 0.312(0.032) YAS,C,P,T-65 SJ-04D1
C11MB-05 16.8(1714) 6000 7.3 0.704(0.072) YAS, C, P, T-80 SJ-04D1
C11MB-06 24.7(2519) 6000 138 1.764(0.18) YAS,C,P, T-100 SJ-06D1
C11MB-08 44.1(4498) 5000 27 6.64(0.68) YAS,C,P, T-125 SJ-08D1
C11MB-10 58.8(5998) 4200 458 14.908(1.52) YAS,C,P, T-150 SJ-10D1
C11MB-12 735(7497) 3300 68 31.388(3.20) YAS, C,P, T-150 SJ-12D1

36 | www.seoam Kkr



Outward Drawing/MEYE/ MR/ 2 &8 =

‘ \ | 3-73
C11MB—04,05

A

AMONHD H3Mod

#C
W

!
K/ | e
#L# C11MB—086,08,10,12
<C11MB-04, 05> <C11MB-06,08,10,12>

Dynamic Gripping Force/zh3 & /E89EEN T 5 7 /S5 ntet

< 8000 ‘
t || climMB-12
= 7000
r \
o 6000
ﬁr I C1IMB-10
Rl 5000
LHo — C11MB-08
o AW
C11MB-06
3000
C11MB-05
2000
C11MB-04
1000 ——
0
1000 2000 3000 4000 5000 6000 7000 8000
3|H4(rpm)

Dimension/R~f/TER/X ¢+ 1

Item&}S
A B C F G H K L N max N min P max P min
ModelEAl
C11MB-04 110 60 60 5 98 80 3-M8 14 37 345 19 12
C11MB-05 130 70 80 5 118 100 3-M8 9 44 415 19 12
C11MB-06 165 85 140 5 - 104.77 6-M10 " 58 544 33 23
C11MB-08 210 95 190 5 - 133.35 6-M12 23 71 67.4 38 28
C11MB-10 254 110 230 5 - 17145 6-M12 22 85 796 47 32
C11MB-12 304 125 230 5 - 17145 6-M16 27 102 96.6 47 32
ltem& S
Q S T max T min u W X Y max Y min Z1 z2 Z3
ModelgAl
C11MB-04 25 20 105 35 M10X1.5 25 28 30 23 25 - MBXDP11
C11MB-05 30 25 10.5 35 M12X1.75 28 30 35 28 30 - M6XDP11
C11MB-06 35 36 14 4 M16X2.0 32 35 45 35 35 20 M8XDP13
C11MB-08 40 36 14 4 M20X2.5 38 42 65 45 45 25 M8XDP13
C11MB-10 50 46 19 4 M24X3.0 50 52 65 50 55 30 M10XDP17
C11MB-12 60 50 19 4 M27X3.0 52 55 75 55 70 85 M10XDP17

X Xla 2 ALE ol ngio] HEE 4 JGLICH
% Specifications are subject to change without notice.

www .seoam.kr | 37



yEesY
SWING LOCK CHUCK
BNEST v 7 | ERNEER

0

(@)

=

o -. st mote . HlolmE oot - 2580 &

% <HIZIMS 24 - C63M: 3 JAW Type, C64M : 2 JAW Type
cC

(@)

N

-« Strong Gripping Force - Clamping Taper Part
- Swing Type Jaw - Excellent Dust—proof Performance
+ C63M : 3 JAW Type, C64M : 2 JAW Type

- ZZNE <SRRG - BIEEM
 BHAMEEF - C63M : =JTIEY, C64M - FT(E!
-« BUWEIE R o T—/NERIBIE - BEEEO
- BhEEMAEES - CO3M : 3 JAW Type, C64M : 2 JAW Type
P D
C [¢]
= F_’ ——
@—‘,\—V— ] = R |
| X
- 1 @ wL @ :ﬁf 12000 L T e
ES & 10000
gﬁ || . @ ! @ | EE 5000 \X\ c63M-8
gz — — —% N 6000 Co3M-6
] el - S
2000
— — é ° 500 1000 1500 2000 2500 3000 3500 4000
L & H2(rpm)

HS

Aol 2 S RAlGH| ffall 2|4 22| 01y J2|AS FYSIH FHAIL.

It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{1 EFR/ AL H

Spec.Ar¥ O G Jaw stroke(Diameter) | Plunger stroke Gripping Dia(External gripping) Max. permissible
iy & AERI(XZ) Z3x AE23 oiord (| Zmeimm input force/ 512
Model&Al - mm mm Max Z|cH Min £|A A2 KN(Kgf)
C63M-06 1C6306 74 114 120.0 12 26.5(2700)
C63M-08 1C6308 9.2 144 150.0 16 35(3600)
C63M-10 1C6310 1.8 175 205.0 50 44(4500)
Spec A% | Max. static gripping force Max.permissible speed Weight (With standard soft jaws) GD? ) .
A|0f Y™ ootz 20 A M4 3% (EFAZE T3 Moment of inertia Mat;h QE,‘;{"ET”
Model34l KN(kgf) r.p.m(min”") kg N-mt(kgf.m) MEdz
C63M-06 79(8100) 4000 18 1.47(0.15) YAS, C, P, T-100
C63M-08 105(10800) 3500 27 4.7(0.48) YAS, C, P, T-125
C63M-10 132(13500) 3000 45 12(1.23) YAS, C, P, T-150

Dimension/ R~/ /A&/x ¢ &

_ ltem¥E

ModoBA ™ A B C D E F G Hin Hout J K L 0 Pmin = P max
C63M-06 | 162 842 | 193 | 1035 | 203 - 3017 | 225 | 7315 | 8256 | M16 |3-M10 | 38.1 54 16.7
C63M-08 | 200 | 100.1 | 233 | 1234 | 2535 = 31.76 | 2535 | 8895 | 10637 | M16 |3-M12 444 8 17.3
C63M-10 | 254 | 1185 | 29.1 | 1476 | 301 - 4129 | 303 | 1127 | 1397 | M18 |3-Mi16| 57.1 2.7 20.2

X Rl & AIS2 of nglo] HAE 4 AZLICE

38 | www.seoam kr

¥ Specifications are subject to change without notice,



SeOAM

MACHINERY INDUSTRY



seOAMm
HYDRAULIC CYLINDER

T4 BN, A HYS Y 222U
MHIAZ HZ5H0) S2HS o SIELICH
MO IABIFABIANS “2|10 220 D HU="S XYEILIC

We will make a great effort to get customers satisfaction with self—confidence of the best.
Having accumulated technologies by developing own hydraulic cylinder series for the first
time in Korea and continuous improvement efforts, the SEOAM promises to provide world

top class quality products and reliable services with various hydraulic cylinder series directed
to realizing high rotating speed, compact and slim design with light weight.

SEOAM Machinery is proud of the highest quality and precision products.



{'. R
Y
&

BIG BORE
HYDRAULIC CYLINDER

p42

YL

LOW DRAIN
HYDRAULIC CYLINDER

pdd

YSH

SUPER HIGH SPEED BIG BORE
HYDRAULIC CYLINDER

p46

YSGH

SUPER HIGH SPEED
GREAT BORE
HYDRAULIC CYLINDER

p48

YSHL

(Long Stroke)

SUPER HIGH SPEED
GREATBORE
HYDRAULIC CYLINDER

pS0

CA

COOLANT COLLECTOR

p51

YAS

CLOSED CENTER
HYDRAULIC CYLINDER

p52

YASC

(Check Valve type)

CLOSED CENTER
HYDRAULIC CYLINDER

pS3

YASP

(Proximity Switch Mountable type)

CLOSED CENTER
HYDRAULIC CYLINDER

po54

YAST

(Check Vialve:+Proximity Swich Type)

CLOSED CENTER
HYDRAULIC CYLINDER

pS6

YMS

(Proximity Switch Type)

CLOSED CENTER
HYDRAULIC CYLINDER

p58

POWER CYLINDER WITH
THROUGH HOLE

p59



TAZTY QUM
BIG BORE HYDRAULIC CYLINDER
BEFPNEERET S Y Y 4 - / KR O

CObM B . HAXMZO| 20|

=

< FRUX] HA(ESSE 1 0172805) - &2 i &

-« Safety Guaranteed - Easy Repair & Check
+ Leakage Prevention Design(Patent Registation:0172805)
» Highest Draw Pull

-« REWHER * FHERIRDE S
ARG FRTERR) - B0 5 ARAHES)
- RiERe - ETRMANLESR

o Pttt (EFEM:0172805)  « BhERK

T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

Specifications/M & /{THER/ AL E

 SpecA Cylinder Dia | Piston stroke | Thru hole Dia Piston surface area Max Braybar pul
O;é@g' ARCUE  mAEAEZ3 ARGRSY LAE o Al2id %2 KN(kgf)
Model®Al mm mm mm Pusht= Pull 91% Pusht& Pull 91=
YAH-06N ‘ 2AHO6N 125 15 46 101.5 89.5 35.3(3602) 31.08(3169)
YAH-08 2AH08 160 20 52 162.6 172.8 65.0(6627) 61.2(6236)
YAH-10 2AH10 185 25 77 197.9 2133 80.2(8180) 74.5(7590)
YGH-10 2GH10 185 25 82 190.2 205.1 77.2(7866) 71.6(7295)
YAH-12 2AH12 205 30 91 2350 2515 94.6(9646) 88.4(9013)
SDecAF%F Max. operating pressure Ma>§.permissigle speed Total leakage W:ight GD? - VT 6 T
TN RUH A DAL S| M4 QI i Moment of inertia e
T Mpa(kgf/er) r.p.m(min”") 2 /min kg N- e (kgf.m) e
YAH-06N | 408 7000 30 12.0 0.74(0.074) CAH-06
YAH-08 408 6200 35 1515 1.96(0.20) CAH-08
YAH-10 408 4700 42 230 343(0.35) CAH-10
YGH-10 40.8 4500 45 29.2 4.80(0.49) CGH-10
YAH-12 408 3800 45 31.0 5.69(0.58) CAH-12

42 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

L2

L13 L13
‘ L3 T2
2x2—T4 f: —]
= | L4
A
= | A g
| A
- £~ el F ia%ggg——%ﬁﬁ—( =198 8
‘ 3 32 7 & I5_L6 ¥
- = ) @]
0 L . Tcta
)
| T3
| 4-T5 \
o 14 E
p

L7

L9

L8

L10

L12

L1

<YAH-06N, 08, 10, 12 / YGH-10>

Dimension/ R~/ TER/X+ &

el D E F G H J K M N 0 P Q
YAH-06N | 156 | 130 | 100 80 65 50 108 | 822 | 74 50 46 53 98
YAH-08 195 | 170 | 130 90 70 55 120 | 912 | 82 56 52 60 110
YAH-10 218 | 190 | 160 | 120 95 80 145 | 1162 | 107 81 77 85 135
YGH-10 | 223 | 190 | 160 | 125 | 100 86 167 | 1212 | 112 87 82 90 154
YAH-12 247 | 215 | 180 | 135 | 110 95 167 | 1312 | 122 9 91 100 | 154

el L2 L3 L4 L5 L6 L7 L8 L9 | L10max LiOmin Li1max L11min
YAH-06N | 1265 | 1 76 55 15 30 1 5 1166 = 34 19 15 0
YAH-08 130 12 | 885 | 55 15 30 6 5 1195 = 39 19 20 0
YAH-10 143 12 | 955 | 55 15 35 6 5 1265 = 44 19 25 0
YGH-10 | 1495 | 14 | 955 | 55 15 35 6 5 1285 @ 44 19 25 0
YAH-12 | 1625 | 14 | 1085 55 15 35 6 5 1415 | 49 19 30 0

Vo8 | 12 L13 L14 L15 L16 T T2 T3 T4 T5
YAH-06N | 181 75 36 120 | 40 | 6-MIOX18 | MS5XP20 | MS2XP15 PT-1/2 M5X10
YAH-08 186 81 36 130 | 40 | 6-MI0X18 | MBOXP20 | M58XP15 PT-1/2 M5X10
YAH-10 208 95 36 150 | 40 | 12-M10X18 | M85XP20 |  MB4XP20 PT-1/2 M5X10
YGH-10 | 217 | 107 36 166 | 40 | 12-M10X18 | MIOXP20 | MB9XP20 PT-1/2 M6X10
YAH-12 230 | 107 36 166 | 40 | 12-M12X22 | MI00XP20 | M99XP20 PT-1/2 M5X10

Model Description/E! &5 B/ RAEFSKR/HAHS HA|

% Xla & A2 of1Qlo] HAE 4 USLICE

% Specifications are subject to change without notice.

YLIH

L] - LI

Cylinder Size  Blank | Standard
CA | Coolant Collector

Cylinder Model A | Big Bore(EZ=3)
G | Great Bore(CH2HEZ)

YAS [J-L]L]L]

.............................

Cylinder Size

Blank | Standard
C | Check Valve Type
P | Proximity Switch Type
T | Check Valve + Proximity Switch Type

www seoam kr | 43

T
=<
g
ny
>
C
—
(]
]
2
-
Z
g
m
By




T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

LOW DRAIN

e k= |

31X
59 = Hrudd

LOW DRAIN SUPER HIGH SPEED BIG BORE HYDRAULIC CYLINDER
KEBREFZEZO LI Y 4 — | BREFLHE

X 518 2D SATE MER|0| F8,

X Maximum turning speed is based on actual measurment.

Specifications/M &/t EcFz/ AL H

— « Compatibility + Small Size & Light Weight

—_

Agst Zyst .ok 2w

S5:0172805) - 2=

« Safety Guaranteed

- Leakage Prevention Design - Highest Draw Pull +Low Drain
- ORI <ML BE(E - REWER

« RHBAIEERET (RETER) AR RLAY
- XYFHEEM - FRD, BEER - RERE

- Bhitmg it (FHEM:0172805) fREEHEK

Mkw\kspec.A}%} Cylinder Dia | Piston stroke | Thru hole Dia Piston surface area Max. Draw bar pull
Oé‘g%"g- AIRICLHZE | DAEAEZT | AEICBEZ jAE THHEA o ABIC 2] KN(kgf)
N o mm mm Push % Pull 1% Push = Pull 21
YLD-06 2LD06 132 25 46.5 101.5 89.5 41.9(4277) 37(3771)
YLDG-06 2LDG06 156 25 52 131.6 122.62 54.4(5545) 50.7(5167)
YLDG-08 2LDGO8 170 29 68 179.6 166.2 74.2(7568) 68.7(7003)
YLDG-10 2LDG10 185 30 82 203.9 188.3 83.3(8498) 77(7848)
YLDG-12 2LDG12 215 35 103 249 236.3 90.7(9245) 86(8773)
YLDL-15 2LDL15 255 50 117.5 384.3 351.7 138.4(14111) | 126.6(12914)
YLDL-21 2LDL21 305 51 166.5 486.9 442 144.4(14724) | 131(13366)
SpecA}?; Max._ operating pressure Ma>§.permissi£)Ie speed To_tal leakage Weight GD? - Matching chuck
L A DA U ESIINE=S-PSES Ecaolzt s Moment of inertia e
Mode@*i!\kka\“ kgf/crt r.o.m(min™") 2 /min kg N-m (kgf.m) e
YLD-06 45.8 7000 25 11.5 0.2(0.021) CAH-06
YLDG-06 45.8 6200 3.0 14 0.30(0.031) CAH-08
YLDG-08 45.8 5600 3.2 16.5 0.63(0.065) CGH-08
YLDG-10 45.8 4800 35 26 0.95(0.097) CGH-10
YLDG-12 40.8 3500 3.5 36 18.0(1.84) CGH-12
YLDL-15 40.8 3000 7 52 18.6(1.9) CAH-15,18,21,24
YLDL-21 33.6 2000 8.4 95 29.43(3.0) CAH-21, 24

44 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

L2 L1
L13 | L13 L3 6 T2
2x2-T4 S QP 3 ] — > —
& : ol - & 1 - T g;— ) é
- B! * A
7 © \; @*A « r/ ~
: 5 R¥ES 1Y e S
- 3 - %) T L5 | L6 S
j \
| e " ——\?J&
N S
0 i ~JL (L4 ©
|
T3 T
J] S
T Z
< -
- =
L7z | L9 L8 O
‘ @)
L10 L12 L11 2
=
Z
—— 2
Dimension/ R~/ ER/X ¢+ 1 T
ltem&ts
e © D D1 E F G H J K N 0 P Q
YLD-06 162 130 147 100 80 65 48 113 92 50 465 53 102
YLDG-06 190 170 170 130 80 70 55 129 107 58 52 61 120
YLDG-08 = 210 190 190 170 120 85 70 154 130 715 68 753 | 143
YLDG-10 | 223 190 205 160 120 100 85 1695 | 146 86 82 90 160
YLDG-12 | 266 225 240 200 145 125 106 199 178 116 103 | 1202 | 190
YLDL-15 310 275 275 230 170 140 123 | 2137 | 182 122 | 1175 | 125 198
YLDL-21 370 290 345 260 240 190 170 274 247 | 1705 | 1665 | 1752 @ 264
VoA | L L2 L3 L4 L5 L6 L7 L8 L9  LiOmax L1Omin | Li1max L11min
YLD-06 1162 | 84 86 8 15 30 165 5 120 49 24 15 -10
YLDG-06 104 10 755 8 15 30 16 5 1095 | 52 27 22 -3
YLDG-08 | 1225 12 91 9 15 38 16 5 131 507 | 217 25 -4
YLDG-10 | 1332 11 101 8 15 35 167 5 1435 | 53 23 25 -5
YLDG-12 142 16 1055 6 15 30 163 5 153 63 28 35 0
YLDL-15 | 1784 | 141 129 6 20 45 178 6 191 77 27 46 -4
YLDL-21 1885 | 145 140 7 20 45 163 5 200 81 30 51 0
tem#= 142 | 13 | L14 | L15 | L16 T1 T2 T3 T4 15 T6
Model&A!
YLD-06 | 1575 @ 765 36 | 1195 40 | 12-M10X15 M52XP20 @ M52XP15 | PT-1/2 | 4-MBX10 | 6-M8X90L
YLDG-06 | 147 83 36 128 | 40 | 12-M10X15 M6OXP20 | MBOXP15 | PT-1/2 | 4-MBX10 | 6-M8X85L

YLDG-08 170.8 94 40 139 40 | 12-M10X15| M75XP20 = M74XP15 PT-1/2 4-M6X10 | 6-M10X100L
YLDG-10 186.5 104 40 160.5 40 | 12-M10X15| M9OXP2.0 | MBIXP2.0 PT-1/2 4-M6X12 | 6-M10X110L
YLDG-12 200 120 48 1745 40 | 12-M12X22 | M112XP2.0 | M120XP2.0 = PT-1/2 4-M6X10 | 6-M12X110L
YLDL-15 251 136 48 195 40 | 12-M16X32 | M130XP20 | M124XP20 | PT-1/2 4-M6X10 | 8-M12X140L
YLDL-21 260 168 48 2295 40 | 12-M16X32 M180XP20 | M173XP20 | PT-1/2 4-M6X12 | 12-M12X150L

X Xlae 3 ARSR ofelo] HAE 4~ USFLICE

% Specifications are subject to change without notice.

www seoam kr | 45



S8E 4y
UPER HIGH SPEED BIG BORE HYDRAULIC CYLINDER
FRZEZ ) LB ) v A= [ BRELBE
- S8k M - AT AHEst - oMM EE
- SQUHIK| MA|(ESSE:0172805) - S2 i £

-« Compatibility +Small Size & Light Weight - Safety Guaranteed
« Leakage Prevention Design - Highest Draw Pull

- BEMEE <L B8k - ReRR
« T HBhLERRET (FRTEER) c[B9 3 2RKHN

-« THFEE - AN, BEER
« Brittiwmigt (EFEM:0172805)

- RiERe
R IVAE:VN

X 52

Z|1 SMEEE MSK|0 =8
¥ Maximum turning speed is based on actual measurment,

Specifications /i #&/{LHRFR/AI L B

T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

Spec. At Cylinder Dia | Piston stroke | Thru hole Dia Piston surface area S i izl o]
Osradéi-fg' AMRICUZ | mAEAEZ3 | ARGBEZ D|AE CHEA ar A0 %3 KN(kgf)
Model&lAl - mm mm mm Pusht= Pull 915 Pusht% Pull Q1=
YSH-06 2SH06 130 9 43 102.1 91.04 37(3749) 33(3341)
YSH-08 2SH08 156 22 52 159.77 148.62 57.6(5879) 53.6(5469)
YSH-10 2SH10 185 25 77 209 193.9 779(7944) 72.1(7357)
YSH-15 2SH15 250 23 117.5 364.4 331.8 129.8(132334) | 118.2(12050)
YSH-21 2SH21 280 35 166.5 3721 327.1 111.5(11376) 98(10002)
YSH-32 2SH32 390 35 240 683 643 101.4(10245) | 95.4(9645)
MW‘\SDeC-M%f Max. operating pressure | Maxpermissible speed | Total leakage Weight GD? N
IS FUH 2| DA 3| H 4 = Y Moment of inertia e
Model&iAl Mpa(kaf/ar) r.p.m(min™") 2 /min kg N- i (kgf.m) e
YSH-06 40.8 7000 3 9.5 0.20(0.021) CAH-06
YSH-08 40.8 6200 8io) 13.5 0.39(0.040) CAH-08
YSH-10 40.8 5000 4.2 16.8 0.81(0.083) CAH-10
YSH-15 40.8 3000 7 52 18.6(1.9) CAH-15,18, 21,24
YSH-21 33.6 2000 8.4 74 29.43(3) CAH-21,24
YSH-32 25 1500 18 130 39.2(4) CAH-32

46 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

Dimension/R~/T&F/X 4+ &

L15

L16

L2 L1
L13 L13 3 S
2x2—T4 A
] . i
T jR =)
| = A
[ o TR = 2 eze e b ey €
g ) Zg T Y
e ,7J = ‘5
L [z ©
| T3 —— !
‘ 4-T5 \ ™_T6
T4 E
L7 L9 L8
L10 L12 L11

el B D | Df E F G H J K M N 0 P Q
YSH-06 165 | 147 | 147 | 130 | 75 65 48 | 116 | 85 76 50 43 50 98
YSH-08 190 = 170 - 40 90 70 55 | 126 90 81 56 52 60 | 113
YSH-10 | 222 | 190 | 200 | 160 | 120 | 95 80 | 164 | 121 | 110 | 81 77 85 | 155
YSH-15 | 307 | 275 = 230 | 170 | 140 | 123 | 216 | 167 152 | 122 1175 125 | 198
YSH-21 354 | 290 - 260 | 240 | 190 | 170 | 278 | 217 | 205 @ 1705 1665 175 | 256
YSH-32 | 454 | 420 - 320 @ 280 @ 265 | 243 | 358 | 297 285 @ 2505 240 255 | 330

Modo i lemS=] 4 L2 L3 L4 L5 L6 L7 L8 L9 LiOmax L1Omin  L11max L11min
YSH-06 | 817 | 74 | 56.9 10 15 30 7 8 864 | 40 31 9 0
YSH-08 | 1001 | 8.9 74 6 15 30 7 5 1052 | 43 21 22 0
YSH-10 | 1152 | 127 | 86 5 15 35 7 5 1125 | 46 21 25 0
YSH-15 | 1415 @ 185 | 102 6 20 45 | 9.85 6 163 | 463 | 233 24 1
YSH-21 | 1665 | 185 | 123 7 20 45 | 9.85 5 184 | 603 & 253 @ 35 0
YSH-32 170 | 185 122 5 20 45 | 9.85 5 197 60 25 35

em¥S 12 | L13  L14 | L15 | L16 T T2 T3 T4 T5 6

Model&A!

YSH-06 | 817 78 569 | 120 55 | 6-M10X18 | M52XP15 | M52XP15 | PT-3/8 | 4-M5X10 | 6-M8X65
YSH-08 | 1385 @ 86 40 130 55 | 6-M10X18 = M6OXP15 =~ MS58XP15 | PT-1/2 | 4-M5X10 -
YSH-10 155 88 40 149 55 | 6-M10X18 | MB5XP20 | MBAXP20 | PT-1/2 | 4-M5X10 | 8-M8X95
YSH-15 241 140 40 215 50 | 12-M16X32 M130XP20  M124XP20 = PT-1/2 | 4-M6X10 -
YSH-21 | 2595 | 172.6 @ 40 250 55 | 12-M16X32 M180XP28  M173XP20 | PT-1/2 | 4-M6X10 -
YSH-32 | 277 | 214 40 332 58 | 12-M16X40 M250XP30 | M253XP20 PT-1/2 | 6-M6X10 -

X Rla o AU ofmelo] HAE 4 AUsLICH

% Specifications are subject to change without notice.

www seoam kr | 47

T
=<
g
ny
>
C
—
(]
]
2
-
Z
g
m
By




Y S [N

R HIGH SPEED GREAT BORE HYDRAULIC CYLINDER
20 LR Y 8- [ BREFLiHE

Agst Zyst .ok 2w

[ =

x| 47 (55155:0172805) - &2 i £

Ly

— - Compatibility +Small Size & Light Weight - Safety Guaranteed
- Leakage Prevention Design - Highest Draw Pull

- BiEMsEIR VYL BEE - REFER
. « RHBAIEERET (RETER) < [@95 2Rk
_<
% - IHFREE - AN BEER - RERE
Jé - Bhitmig it (FHEM:0172805) -« EIJI5RK
—
(@]
Q
<
- X 518 A1 EHSEE USRI £,
% ¥ Maximum turning speed is based on actual measurment.
D Specifications /3 #&/{LERR/ AL H
\\\\\\\Spec.A}‘é o Cylinder Dia  Piston stroke | Thru hole Dia Piston surface area Max. Draw bar pull
SE:LNB A2z | DAEAER3  ARCBEZ DA CHHE o Al %3 KN(kgf)
N HS
ModelgAl o i o Push 24 Pul 01= Push 2= Pull 01%
YSGH-06 2SGHO06 145 25 52 131.6 122.6 43.7(4456) 40.7(415)
YSGH-08 2SGH08 170 25 68 179.6 166.2 66.8(6814) 61.8(6306)
YSGH-10 2SGH10 189 25 82 213 197.5 76.9(7848) 71.3(7273)
YSGH-12 2SGH12 215 B85 103 262.3 245.9 85.0(8667.2) | 79.7(8127.6)
\\A\\\k\w\\\S,pec.A}% Max. operating pressure | Max.permissible speed Total leakage Weight GD? Matching chuck
R HIAREEL Ecaoly £ Moment of inertia e
MOdelgA—é\M\\ kgf/art r.p.m(min”") ¢ /min kg N-m (kgf.m) e
YSGH-06 40.8 6500 3.9 12.7 0.30(0.031) CGH-06
YSGH-08 40.8 5600 4 16.5 0.63(0.065) CGH-08
YSGH-10 40.8 4800 45 26 0.95(0.097) CGH-10
YSGH-12 40.8 3500 6 36 18.0(1.84) CGH-12

48 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

L13 L13 L2 L
| ‘ L3 T T2
2x2—T4 —
|| L4
4_),.7
= h= i S
! A
, R ] & gg'fo.go ta @“’ ,010(7,7,%)%% Q
: o sz f@ I (506 L
, ST _
o (=)
0 L | ©
- i T3 == :
‘ 4-75 T8 =
| 3
. m i 3
] C
c
L7 L9 L8 5
0
L10 L12 L11 &
=
Z
2
Dimension/ R~/ ER/X ¢+ 1 T
Item&s
e Cc D D1 E F G H J K M N 0 P Q
YSGH-06 180 | 165 | 170 | 140 | 80 70 55 135 | 9 85 | 595 | 52 62 110
YSGH-08 | 210 | 190 | 190 | 160 | 120 85 70 154 | 111 100 | 715 | 68 75 145

YSGH-10 226 190 205 160 120 100 85 164 128 17 86 82 90 155

YSGH-12 263 225 240 200 145 120 106 202 148 135 108 103 112 190

VoA | L L2 L3 L4 L5 L6 L7 L8 L9 LiOmax L1Omin Litmax Li1min
YSGH-06 | 99 9 755 1 10 20 121 8 102 | 83 58 22 -3
YSGH-08 | 1052 | 127 | 7B 5 15 35 7 5 1025 46 21 25 0
YSGH-10 | 1222 | 127 | 90 5 15 35 7 5 125 | 48 21 25 0
YSGH-12 | 148 14 | 1085 & 55 15 30 7 5 155 | 55 20 35 0

T L2 | L3 L4 L5 L6 Tt T2 T3 T4 T5 T6

YSGH-06 1385 86 40 130 55 | 12-M10X18 | M60XP15 | M60XP1.5 PT-3/8 4-M6X6 6-M8X80
YSGH-08 155 88 40 149 55 6-M10X18 | M75XP2.0 | M74XP15 PT-1/2 4-M5X10 | 6-M10X85
YSGH-10 175 102 40 170 55 | 12-M10X18 | M90XP2.0 | M8IXP2.0 PT-1/2 4-M6X15 | 6-M10X100

YSGH-12 211 126 40 195 55 | 12-M16X32 | M111XP2.0 | M111XP20 | PT-1/2 4-M6X15 | 6-M12X120

% Rl AR ol nglo] HAEE 4 AL

% Specifications are subject to change without notice.

www seoam kr | 49



g HEH(8AERT)
PEED BIG BORE HYDRAULIC (Long Stroke)
2 LR Y Y 8- [ BRELIBET

o O

)

L1
LS T 12
s u ij L4 a
. o s
Sl |2 .
| [ @
d 5 5
e
™16

L7 Lo
L12

L8
L1

L10

< QMM BtE . SREIX| HA(S5155:0172805)
=« Compatibility + Small Size & Light Weight - Safety Guaranteed - Leakage Prevention Design

=L

« Highest Draw Pull

-- S8y 48 . A¥s FYst

- BRI <UL B8t - ek - PR RTER) <R3 2&KHD
-« KPFHSM - AN BEEBR - RiERe - DRI EAEM:0172805) - EHFEK

T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

X ol Z1 L= HEX[0| FF
¥ Maximum turning speed is based on actual measurment,

Specifications/M & /{1 EFR/ AL E

I oo, | Qe | Pomae | Taiele | AR 4 35 K
odaT - mm mm mm Push 2= Pull 01 Push 2= PuIl 01=
YSHL-15 | 2SHL15 250 50 1175 364.4 3318 129.8(13233) | 118.2(12050)
YSHL-21 2SHL21 280 51 166.5 3721 327.1 111.5(11376) 98(10002)
YSHL-32 2SHL32 390 51 240 683 643 101.4(10245) 95.4(9645)
WMSDeC-AF‘é Max. operating pressure | Max.permissible speed Total leakage Weight GD? .
FIAE Y F0AZ3 M4 Scofol =2 Moment of inertia Ma‘cﬂj’g,ghuc"
Model&Al kaf/c r.o.m(min™) 2 /min kg N (kgf. ) Rk
YSHL-15 408 3000 7 52 18.6(1.9) CAH-15,18,24
YSHL-21 336 2000 84 77 29.43(3) CAH-21,24
YSHL-32 25 1500 18 135 39.2(4) CAH-32

Dimension/R~t/TER/A ¢+ &

el B D D E F G H J K M N 0 P Q
YSHL-15 | 307 | 275 | 275 | 230 | 170 | 140 | 123 | 216 | 167 | 152 | 122 | 1175 | 175 | 256
YSHL-21 | 354 | 290 | 345 = 260 = 240 | 190 | 170 | 278 | 217 | 205 | 1705 1665 175 | 256
YSHL-32 | 454 | 420 | - | 320 | 280 | 265 | 243 | 358 | 297 | 285 | 2505 | 240 | 255 | 330
e B L2 L3 L4 L5 L6 L7 L8 L9  LiOmax LiOmin Lifmax L11min
YSHL-15 | 1685 | 185 | 129 20 45 | 985 6 190 | 76 26 46 -4
YSHL-21 | 1825 | 185 | 139 20 45 | 985 5 200 | 763 | 253 | 5 0
YSHL-32 | 186 | 185 | 138 5 20 45 | 985 5 213 | 76 25 50 -1
T L2 L3 L4 L5 L6 T T2 T3 T4 T5 T6
YSHL-15 | 241 | 140 | 40 | 215 | 50 | 12-M16X32 | M124XP20 | M111XP20 | PT-1/2 | 4-MBX10 | 8-M12X140
YSHL-21 | 2595 | 1726 = 40 | 255 | 55 | 12-M16X32 MI8OXP30 K MI73XP20 = PT-1/2 | 4-MBX10 | 12-M12X150
YSHL-32 | 277 | 214 | 40 | 332 | 58 | 12-M16X40 | M250XP30 | M253XP20 | PT-1/2 | 6-MBX15 -

x x4 9 A2 ofnglo] HEE 4 gL

% Specifications are subject to change without notice.

50 | www_.seoam kr



gaE S
COOLANT COLLECTOR
o5y bavsa- | AHEKES

— o« &AL

MAQ B4 - MRID &S

[

ton

— -+ Coolant Collection - Checking Cylinder operation
- PHPRER - 2V v X —{FEA D

- WELHR - RNDAE B EIET

35

$33 1.6 Z1 z2

<CATYPE> <CCTYPE>

Dimension/R /4 EXR/X ¢ 1

T L T T2 T3 T4 T5 Z1 72 Matching Cylinder/& 241214
CA-06 90 88 994 9121 61 745 365 YSH/YAH-06
CA-08 100 100 106 $132 67 795 365 YSH/YAH-08
CA-10 126 $125 132 158 80 845 37 YSH/YAH-10
CA-12 142 9143 9154 $180 95 88 37 YSH/YAH-12

CSG-08 142 143 9154 9177 925 88 37 YSGH-08
CG-10 142 $133 9154 9177 925 88 37 YGH-10
CS-15 190 $ 185 $186 $210 1175 102 35 YSH-15

T L T T2 T3 T4 T5 Z1 22 Matching Cylinder/& 2412I{
CC-06 155 $88 ?90 = 65 92.3 34.3 YAH-06
CC-08 155 100 $90 - 70 99.8 M8 YAH-08
cc-10 200 $125 150 - 100 1468 618 YAH-10
CC-12 200 143 150 - 100 146.8 618 YAH-12
CC-08 155 $143 $125 - 97.7 97.3 393 YSGH-08
CC-12 200 165 $125 - 102 1523 67.3 YGH-10
cc-15 190 9185 $ 150 - 117 1428 64.5 YSHL-15
cc-21 235 0248 $ 205 - 133.1 1428 64.5 YSHL-21
CC-32 285 $328 $ 305 - 169.7 132.8 55 YSHL-32

% Rl 2 ARSE o mgjo] HEE 4 JGLICH
% Specifications are subject to change without notice.

Cylinder Size Cylinder Size

www .seoam kr |51

T
=<
g
ny
>
C
—
(]
]
2
-
Z
g
m
By




|

A — 3
DAY M4

CLOSED CENTER HYDRAULIC CYLINDER
EERPREERED U v 8-/ PEOFEIBEL

-+ BHH 2E - 2E-2IHFY MEIS - 2Y B - n&3H

-« Economical Model - Horizontal-Vertical Type Available
- Small size & Light weight - High Speed Rotation

- REMBETIV < KFEEMERTRE /)R - SEkEER
- ZFE KFEEERENT - R, EEBR - SEEE

T
>
D Outward Drawing/#MEYE/ MR/ 2 8 =
C 14.5 L5
c
5 L4 L3
O
E 4-PT3/8 L6
Z
2 % [l 4=
T m | -
8“)[ e My [ A N | I I[%ng
s any r g W
L 12
i
PT1/4 N
DRAIN PORT
L2 5 N\.T1
L1 L7

X 518 A1 S|MAEE MER|O| £E,
% Maximum turning speed is based on actual measurment,

Specifications/M & /{1 F&R/ AL H

Spec. At Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
OédégiNio- AzinuZ DAEAERS] DAE CHEE o AlRID) %3 KN(kgf)
Model&Al = mm mm Push 4% Pull Q1% Push &= Pull 215
YAS-65 2AS06 65 15 33.0 30.0 12.2(1245) 11.2(1443)
YAS-80 2AS08 80 15 50.0 450 18.4(1877) 16.5(1684)
YAS-100 2AS10 105 20 86.5 795 31.8(3244) 29.3(2989)
YAS-125 2AS12 130 25 1325 123.0 48.8(4978) 45.3(4621)
YAS-150 2AS15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YAS-200 2AS20 205 89 330.0 306.0 121.6(12404) | 112.8(11505)
YAS-250 2AS25 250 60 490.2 457.7 179(18400) 169(17200)
~ Spec.AY¥ | Max. operating pressure | Max permissible speed Total leakage Weight GD? :
HTABSYS LT CEN Ecaoly 25 Moment of inertia | Maching chuck
Model&Al kof/er r.p.m(min"") 2 /min kg N-m (kgf.m) SRS
YAS-65 408 6000 1.0 32 0.11(0.011) CAS-04
YAS-80 40.8 6000 1.0 43 0.29(0.03) CAS-05
YAS-100 408 6000 1.0 53 0.49(0.05) CAS-06
YAS-125 40.8 6000 1.0 74 0.88(0.09) CAS-08, CAS-10
YAS-150 408 5500 1.0 10.3 1.47(0.15) CAS-10, CAS-12
YAS-200 408 5500 1.0 195 3.62(0.37) CAS-15 04
YAS-250 40.8 2000 1.0 - - CAS-40,50,63
Dimension/R~/TER/A+ &
w85 C D E F G | Lt | L2 13 4| 15| L6 |Lrmax L7mn| T p)
YAS-65 | 100 = 80 | 60 | 20 | 13 | 145 | 111 | 65 | - 1005 30 | 45 30 | 6-M8X16 MI2XP175
YAS-80 110 90 65 25 17 145 111 65 = 1005 | 30 45 30 6-M8X16 | M16XP2.0

YAS-100 135 | 100 80 30 21 168 | 134 | 815 | 65 | 1235 35 45 25 | 6-M10X19 | M20XP2.5
YAS-125 160 | 130 | 110 35 25 178 | 144 | 915 | 65 | 1335 40 50 25 | 6-M12X22 | M24XP3.0
YAS-150 185 | 130 | 110 45 305 | 185 | 151 | 985 | 65 | 1405 | 45 55 25 | 6-M12X20 | M30XP3.5
YAS-200 245 | 145 | 120 65 37 | 2085 | 1745 | 122 6.5 164 60 69 34 | 6-M16X29 | M36XP4.0
YAS-250 314 | 282 | 160 65 46 | 2525 | 2155 | 166 6.5 208 67 85 25 | 6-M12X30 | M42XP3.0

X Xl 2 ARLE ol ngio] HEE 4 JGLICH
% Specifications are subject to change without notice.

52 | www .seoam kr



AU HHQUML (HTLE )

153HE
CLOSED CENTER HYDRAULIC CYLINDER(CHECK VALVE Type)
EERPRAUEEHED Y v -/ PO B

-« M - 22370l 80| -1y

orr
dl
HH
Il

-« Safety Guaranteed - Easy Repair & Check

- High Performance and High Quality

- RETER - FERENES - SltEE anE
- RiELE - ETRNF4E - HEER, REH
T
o
Outward Drawing/#EYE/ MK/ 2 8 = L
C
—
14.5 L5 ®)
L4 L3 (@)
_<
—
=z
L6
4—PT 3/8 i %
el
an\ el -
g% -4 A t { gsls 8 <
© Jan s |8
R g
L \T2
]
230 PT 1/4 —
DRAIN PORT Lo 5T
L1 L7
X ol 21 3= MEX[0| T
% Maximum turning speed is based on actual measurment,
Specifications/M & /{1 EFR/ AL E
Spec. A Order NO Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
oLy NIV LAEAERT IAE SN or AR £ KN(kgf)
Model&Al h mm mm Push Q1= PUI 91 Push @t PuIQIE
YASC-100 2ASC10 105 20 86.5 795 31.8(3244) 29.3(2989)
YASC-125 2ASC12 130 25 1325 123.0 48.8(4978) 45.3(4621)
YASC-150 2ASC15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASC-200 2ASC20 205 35 330.0 306.0 121.6(12404) | 112.8(11505)
YASC-250 2ASC25 250 60 490.2 457.7 79(18400) 169(17200)
Spec. AR | pax. operating pressure . Max.permissible speed Total leakage Weight GD? .
TR0 HTARE ML £caolz 5% Moment of inertia | Meching chuck
T kaf/cr rp.m(min’') 2 /min kg N-r (kgf. ) e
YASC-100 40.8 6000 1.0 7.0 0.49(0.05) CAS-06
YASC-125 40.8 6000 1.0 9.8 0.88(0.09) CAS-08, CAS-10
YASC-150 40.8 5500 1.0 13.3 1.47(0.15) CAS-10, CAS-12
YASC-200 40.8 5500 1.0 21.7 3.62(0.37) CAS-15 0|4t
YASC-250 40.8 2000 1.0 - - CAS-40,50,63

Dimension/R~t/T&R/A+ &

o L D E F G L1 2 L3 L4 L5 | L6 |L7max L7min T p)

YASC-100 | 135 | 100 | 80 | 30 | 21 |1985 1645 815 37 | 154 | 35 | 45 | 25 |6-M10X19 M20XP2.5
YASC-125 | 160 | 130 | 110 | 35 | 25 2085 1745 915 | 37 | 164 | 40 | 50 | 25 | 6-M12X22 | M24XP3.0
YASC-150 | 185 | 130 | 110 | 45 | 305 2155 |1815| 985 | 37 | 171 | 45 | 55 | 25 | 6-M12X20 | M30XP3.5
YASC-200 | 245 | 145 | 120 | 55 | 37 | 239 | 205 | 122 | 37 1945 60 | 69 | 34 | 6-M16X29  M36XP4.0
YASC-250 | 314 | 282 | 160 | 65 | 46 | 283 | 256 | 166 | 46 | 249 | 67 | 85 | 25 | 6-M12X30 | M42XP3.0

X Xl 2 ARLE ol ngio] HEE 4 UFLICH
% Specifications are subject to change without notice.

www seoam kr |53



[

54T HFULUN (2K F& 7158)
CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
ERPEMERT AT Y ¥ 4 - (%R A o FRA AR / PO GFRaFR)

- &E 9%l

x) - AY ZYs - 1Y

or

Ix
- nEH

T

-« Detection of Operating Location
« Miniaturization & Lightness - High Performance and High Quality

-« fFEpERR - D AERE(E - S SRE

o

I
5 - RIMETER - @), ERE - ML, REH
0
>
C
—
(@]
Q
= % 518 A1 SHAEE MR £
2 % Maximum turning speed is based on actual measurment.
O
m —
By Specifications/M&/{HEkFR/ AL E
w\\Spec.A}?; o o Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
\ édEjL-lNi QEIEILHg LAEAERT .l.l-|ﬁ§ I:._"Fja cm }élan_“:‘l -’5—11 KN(kgf)
AN mm mm Push Q1= Pul 21 Push 2% Pull 91
YASP-100 2ASP10 105 20 86.5 795 31.8(3244) 29.3(2989)
YASP-125 2ASP12 130 25 132.5 123.0 48.8(4978) 45.3(4621)
YASP-150 2ASP15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASP-200 2ASP20 205 85 330.0 306.0 121.6(12404) 112.8(11505)
YASP-250 2ASP25 250 60 490.2 457.7 179(18400) 169(17200)
\ SpecAS Max. operating pressure  Max.permissible speed Total leakage Weight GD? Matching chuck
HINgQU HIAREHS Ecaolz =3 Moment of inertia e
Modelga] kaf/er r.o.m(min™) 2 /min kg N-m (kgf.m) e
YASP-100 408 6000 1.0 58 0.49(0.05) CAS-06
YASP-125 408 6000 1.0 79 0.88(0.09) CAS-08, CAS-10
YASP-150 40.8 5500 1.0 108 1.47(0.15) CAS-10, CAS-12
YASP-200 408 5500 1.0 20.0 3.62(0.37) CAS-150|4¢
YASP-250 408 2000 1.0 - - CAS-40, 50, 63

54 | www seoam kr



Outward Drawing/MEYE/ MR/ 2 &8 =

L4 _ L3

4—-PT 3/8
2¢ PORT

L6

4:7 i
4:7 i
7 Y
A
28 |
L
\
|
} ||
()]
pGH8
oF
%D
9C

oENh7

(] \
-
| T
= r L NT2 <
Max35 %
ax PT 1/4 —
DRAIN S— >
PORT =
= T1 O
81 u 5 NT1 a
Lo L7 <
—
Z
O
I
X

Dimension/R ~/T&/X 4+ &

ltem&=
C D E F G LO L1 L2
ModelZA|
YASP-100 135 100 80 30 21 236 155 134
YASP-125 160 130 110 35 25 246 165 144
YASP-150 185 130 110 45 305 253 172 151
YASP-200 245 145 120 69 37 2765 1955 174.5
YASP-250 314 282 160 65 46 2525 2155 166
Item&ts
L3 L4 L5 L6 L7 max L7 min T1 T2
ModelZAl
YASP-100 81.5 6.5 1235 35 45 25 6-M10X19 M20XP2.5
YASP-125 915 615) 1335 40 50 25 6-M12X22 M24XP3.0
YASP-150 98.5 6.5 1405 45 55 25 6-M12X20 M30XP3.5
YASP-200 122 6.5 164 60 69 34 6-M16X29 M36XP4.0
YASP-250 166.5 6.5 208 67 85 25 6-M12X30 M42XP3.0

X x|4 9 A2 ofnglo] HEE 4

% Specifications are subject to change without notice.

ol
PN

=ing

www.seoam kr | 55




d|

DESHY SMFUMRINH (ML AL 22 7H53)

CLOSED CENTER HYDRAULIC CYLINDER(CHECK VALVE+PROXIMITY SWITCH Type)
e EREE RS Y v A -/ BEOE T

. EEm0l X - AH Fys - 045 DEY

or

—+ Combined Structures - Small size & Light Weight
- High Performance and High Quality

- BAMIES - /MUERE(L - SMee &RE

- 540 RN BER - MR REY

T
_<
&)
iy
>
C
—
] e ) _
@) X ol A1 g8 s AEX(0 &
< X Maximum turning speed is based on actual measurment.
C =
% Specifications /M 1&/{THFR/AI A H
5
Spec. AFY Cylinder Dia Elsion Sidl@ Piston surface area Max. Draw bar pull
Order NO. ARICU HAEAEZS OAE CHER o AziH =2 KN(kgf)
20ds I_mm - _I_n;n_
Model& Al Push 2= Pull 1% Push &= Pull 91=
YAST-100 2AST10 105 20 86.5 795 31.8(3244) 29.3(2989)
YAST-125 2AST12 130 28 1325 123.0 48.8(4978) 45.3(4621)
YAST-150 2AST15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASTL-150 2ASTL15S 150 50 176 160 64.8(6610) 60.0(6120)
YAST-200 2AST20 205 35 330.0 306.0 121.6(12404) 112.8(11505)
YAST-200S 2AST20S 200 86 330 306 121.6(12404) 112.8(11505)
YASTL-200 2ASTL20 200 50 330 306 121.6(12404) 112.8(11505)
YASTL-200S 2ASTL20S 200 50 330 306 121.6(12404) 112.8(11505)
YAST-245 2AST24 245 60 470.8 438.2 1732(176719) = 161.2(16450.2)
YAST-250 2AST25 250 60 490.2 4577 179(18400) 169(17200)
YAST-250S 2AST25S 250 60 4815 450 180(18270) 167.3(17078)
Spec.AtY¥  Max. operating pressure Max.permissible speed Total leakage Weight GD? )
ATARSYUS  AHTARIHA Ecaolz 5 Moment of inertia ~ Matching chuck
Model&Al kgf/cnt r.p.m(min") 2 /min kg N-m (kgf.m) e
YAST-100 40.8 6000 1.0 7.5 0.49(0.05) CAS-06
YAST-125 40.8 6000 1.0 10.3 0.88(0.09) CAS-08, CAS-10
YAST-150 40.8 5500 1.0 13.8 1.47(0.15) CAS-10, CAS-12
YASTL-150 40.8 5500 1.0 5.9 = CAS-15 0|4
YAST-200 40.8 5500 1.0 22.2 3.62(0.37) CAS-15 0|4t
YAST-200S 40.8 5500 1.0 24 0.42(0.05) CAS-15 0|4t
YASTL-200 40.8 5500 1.0 24 0.42(0.05) CAS-150]4t
YASTL-200S 40.8 5500 1.0 26 = CAS-15 0|4}
YAST-245 40.8 2000 1.0 38 - CAS-40, 50, 63
YAST-250 40.8 2000 1.0 38 = CAS-40, 50, 63
YAST-250S 40.8 2000 1.0 38 - CAS-40, 50, 63

56 | www seoam kr



Outward Drawing /4 E/AMHIR/ 2 8 =

45 L5
L4 L3
4-PT 3/8
79 PORT
f = L6
- 5
& / ;
1 A /| ol _ 1 ul=igle
\ i alh 8 T
2 b Q E
L 12
‘ f N2 %
Max35 PT 1/4 I
44@ DRAIN PORT @\: Jé
—
L2 @)
81 L1 5 \T1 O
LO L7 <
—
Z
O
m
Dimension/ R~/ &R/ A+ ®
ltem&=
Model&Al © D E F G LO L1 L2
YAST-100 135 100 80 30 21 266.6 1855 164.5
YAST-125 160 130 110 35 25 2765 1955 1745
YAST-150 185 130 110 45 305 2835 2025 181.5
YASTL-150 185 130 110 45 30.5 3165 233 205
YAST-200 245 145 120 55 37 307 226 205
YAST-200S 245 222 120 55 37 2895 206 1875
YASTL-200 245 145 120 55 37 3365 2385 220
YASTL-200S 245 222 120 55 37 286.5 196 172
YAST-245 305 220 160 65 50 397 302 256
YAST-250 314 282 160 65 46 397 302 256
YAST-2508 305 275 160 65 50 3285 207 178
[tem&ts ;
ModelAl L3 L4 L5 L6 L7 max L7 min T1 T2
YAST-100 81.5 37 154 35 45 25 6-M10X19 M20XP2.5
YAST-125 91.5 37 164 40 50 25 6-M12X22 M24XP3.0
YAST-150 98.5 37 171 45 55 25 6-M12X20 M30XP3.5
YASTL-150 131 37 198.5 45 80 30 6-M12X20 M30XP3.5
YAST-200 122 37 194.5 60 69 34 6-M16X29 M36XP4.0
YAST-200S 104.5 37 177 60 69 34 12-M16 M36XP4.0
YASTL-200 137 37 209.5 60 80 30 6-M16 M36XP4.0
YASTL-200S 133.5 = 163.5 60 80 30 6-M16 M36XP4.0
YAST-245 166 45 249 67 85 25 6-M20X30 M42XP3.0
YAST-250 166 46 249 67 85 25 6- ¢ 18THRU M42XP3.0
YAST-2508 145 - 174.5 60 85 25 12-M20 M42XP3.0

X g 3 ARS2 ofRlo] HAE 4~ USLICE

% Specifications are subject to change without notice.

www .seoam.kr | 57



HIS{ABIE (2 HAQYX| HEH)

CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
YLD Y Y - (AR A o FRISORIRERY) / LOFEHEL (FEIFX)

- 2o|7t BE (U) -3
< HEEEQ F -2

Jow i

2 g
=

- EE 9% HE

-+ Short Length(Flat Type) - Center Through Hole Secured
+ High Operation Speed - Safety Guaranteed
- Detection of Operating Location

- REHFEN(RY L) - TV 2-BEHER
- EREE - TR - (FEIERE

-« B RERIE * FEARLHY P ORI R R @R
AR RERRR/IME - WS HE 2 EIiE
- BT IR S Ol Esr I X

T
_<
o
ey}
>
cC
C
@
0
<
C
Z
O
m
X

¢E h7

2-PT 3/8

% o8 Z|1 L E= A0 =2
¥ Maximum turning speed is based on actual measurment.

Specifications/M #& /{1 E&R/ AL S H

~ Spec. Al 0 Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
~_ édrju\g. ERITE: LAEAEZS LAE X o Az =2 KN(kgf)
Model®d h mm mm Push 1= PUI Q1% Push 215 PUIQIE
YMS-105-15 2MS10 105 15 83.0 764 31.2(3183) 28.7(2930)
YMS-120-20 2MS12 120 20 109.5 1029 41.2(4200) 38.7(3946)
YMS-135-20 2MS13 135 20 1419 1329 53.4(5442) 50.0(5097)
YMS-140-25 2MS14 140 25 153.9 1437 57.9(5902) 54.1(5511)
YMS-150-35 2MS15 155 35 188.6 176.1 70.9(7233) 66.3(6754)
\“\_\Spec.A}‘é Max. operating pressure | Max.permissible speed Total leakage Weight Gp* R T E
| DAR S0t PN CRES Ecyolzt B Moment of inertia e
Model&A! kaf/crt r.o.m(min"") £ /min kg N-m (kgf.m) e
YMS-105-15 40.8 6000 1.0 11.0 1.52(0.16) CAS-06
YMS-120-20 40.8 5000 1.0 11.8 2.11(0.22) CAS-08
YMS-135-20 40.8 5000 1.0 13.2 3.20(0.33) CAS-08, CAS-10
YMS-140-25 40.8 5000 1.0 14.5 3.92(0.40) CAS-10, CAS-12
YMS-150-35 40.8 4200 1.0 17.5 4.60(0.47) CAS-12
Dimension/ R~/ ER/A+ ®

wwgr 2 ¢ | D |E|F |G
YMS-105-15| 180 | 128 | 85 | 36 @ 21
YMS-120-20 | 192 | 150 | 120 | 36 @ 21
YMS-135-20 | 225 | 160 | 120 | 36 | 21
YMS-140-25 | 225 | 160 | 120 | 36 @ 21
YMS-150-35 | 250 | 175 | 120 | 40 | 25

J K M L1t L2 L3 L4 L5 L6 L7max L7mn L8 L9 Ti1 T2 T3
16 | 18 | 28 | 130 1175/ 57 [135| 46 | 28 | 53 | 38 | 23 25|6-M10 M20XP25 | PF3/8
16 | 18 | 28 | 139 1265 65 155 46 = 28 | 53 | 33 | 23 25 6-M10 M20XP25  PF3/8
16 | 18 | 28 | 139 1265/ 65 |155| 46 | 28 | 58 | 38 | 23 25|6-M10 M20XP25 | PF3/8
16 | 18 | 28 | 1441315/ 70 |155| 46 | 28 | 58 | 33 | 23 25 6-M10 M20XP25 | PF3/8
20 | 18 | 28 1641515/ 90 |225| 46 | 28 | 63 | 28 | 23 | 25 6-M12| M24XP30 | PF3/8

X X4 R AR o ngio] HEE 4 JFLICH
% Specifications are subject to change without notice.

o OO OO OO O T

58 | www .seoam kr



DESHYSURYLEN (R, SUR BRYY)
POWE

R CYLINDER WITH THROUGH HOLE
EEPERRERED Y v -/ OB

- SHMEH SR HEHY
« Air Sensor £ Coolant Blowing 7ts

-+ It is a solid cylinder with one pipe way in central parts.
« It is able to air sensor or coolant bowing structure.

-« R Y Y A —RLERICERR
+ Air SensorXl[3Coolant Blowing®J&aE

-+ RPIHEEAL
L POREIE MBI, LTINS BN A SR

Outward Drawing/#MEYE/ MR/ 2 8 =

T
=<
g
ny
>
C
—
(]
]
2
-
Z
g
m
By

% 518 21 ANAEE MER0 Z8

* Maximum turning speed is based on actual measurment,

Specifications/fM & /THER/ AL E

~ SpecAlY Order NO. (zé/linder Dia Piston stroke Piston surface1 area Max. Draw bar pull
O Qs MEIELUE LAEAEZT |AE CHHA o M2IC| &2 KN(kgf)
Modelgl mm mm Push 4% Pull 21 Push % Pull 21
YTRC100 2TRC100 105 20 86.5 795 31.8(3247) 29.3(2984)
YTRC125 2TRC125 130 25 132.5 123 48(4900) 45.1(4600)
YTRC140 2TRC140 140 35 150.8 141.2 55.5(5660) 52(5300)
YTRC200 2TRC200 200 35 3094 2934 1139(11614) 108(11013)
YTRC250 2TRC250 250 60 515 482 189.6(19331) 177.4(18092)
~ Spec.AlR ] ' issi i 2 :
Model&Al kaf/cnt r.p.m(min™") { /min kg N-m (kgf.m) e
YTRC100 408 6000 1 8 0.49(0.050) CAS-06
YTRC125 40.8 5000 1 105 0.88(0.09) CAS-08, CAS-10
YTRC140 408 4500 1 1.3 1.57(0.16) CAS-10, CAS-12
YTRC200 408 4000 1 22.3 451(0.46) CAS-150]4f
YTRC250 40.8 3500 1 25.2 8.33(0.85) CAS-40, 50, 63
Dimension/ R~/ &R/A &
Lode@g—————"e"@f A B (0] D E F H L M Nmax = Nmin  Omax = Omin Rmax = Rmin

P

YTRC100 | 135 | 100 80 | 30 | 82 | 103 | 21 | M20xP2.5  M10,DP19 | 34 14 291 271 5 45 25
YTRC125 | 160 130 110 | 35 | 92 | 103 | 25  M24xP3.0 M12,DP22 | 34 14 31 286 5 50 25
YTRC140 | 175 | 130 | 110 | 35 [ 1065 98 | 25 | M24xP3.0 A M10,DP20 | 395 | 45 27 236 5 60 25
YTRC200 | 245 145120 | 55 | 1205 98 | 37 | M36XP4.0 | M16,DP29 | 395 | 45 285 | 250 5 60 25
YTRC250 | 305 | 220 | 160 | 65 | 170 | 98 | 44 | M42xP3.0 | M20,DP35 | 645 | 45 | 3595 2995 20 85 25

% A4 2 Alge olnglo] WA 2 UsLict

% Specifications are subject to change without notice.

=

www seoam kr | 59



SeOAM
MANUAL CHUCK

12 oraiHEL

Rl TR
0o N A Rl
g O
pan
i
it}
>
=
:||>
P}
OH
- o
e

We will make a great effort to get customers satisfaction with self—confidence of the best.
Having accumulated technologies and continuous improvement efforts,

the SEOAM promises to provide world top class quality products and reliable services
with various manual chuck series offering high precision and durability.

SEOAM Machinery is proud of the highest quality and precision products.



p62

MSU

TWO PIECE JAW
| SCROLL CHUCK

p64

A STANDARD
SLOTTER CHUCK

p65

S e M

&' 4 JAWINDEPENDENT
' CHuck

p66

MU

MANUAL CHUCK

p68

MIOC

[INDEPENDENT OIL
- COUNTRY CHUCK

p69



A3NHD IVNNVIA

3-7 HEH

3-JAW SCROLL CHUCK
IOMEHF v v /| ZMBELFE

—o7bE e Y . DEW, 24 .

S = =, 2t

HAIX
=S *TEaE

fol

-+ General Model - High Quality & Long Durability
« Compatibility - Parts

- KL ETIL -SRE RhES Bt - RS
- L@i - REY ERAEGR - FSE - BN

X =] o £UZS (X5t7| Yol Z4 U2s| 014 22IAS FYUsH0f FYAIR,
X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M #&/{1FR&R/ AL S H

Spec.AKY . Chuck size | Thru-hole Dia | Griping Force Gripping Dia IttA Weight  Maxpermissile speed
édéiﬂ'\g <Pl Bl ] External (&) Internal (&) e illAl%ﬂ’.‘%-’.&
Model#sl o o O T Wecom | MNmm | WXmm | M | © | remimn
MS-3 00103E 85 16 910 70 2 64 24 15 2500
MS-4 00104E 112 24 1220 90 3 84 32 33 2500
MS-5 00105E 132 32 1530 110 3 100 35 46 2500
MS-6 00106E 167 45 2140 160 4 150 48 79 2000
MS-7 00107E 193 58 2550 180 4 170 56 12 2000
MS-8 00108E 203 58 2550 180 4 170 56 133 2000
MS-9 00109E 233 70 3060 220 5 210 62 193 2000
MS-10 00110E 273 89 3670 260 6 250 70 26.2 1800
MS-12 00112E 310 105 4480 300 10 290 86 376 1800
MS-14 00114E 355 127 4480 350 12 320 96 572 1500
MS-16 00116E 405 160 4580 400 14 380 100 80.7 1500

62 | www seoam Kkr



Outward Drawing /4 E/AMHIR/ 2 8 =

PA
#C
#D
2E
I
K

\AASSS

4:1‘ \
mpupuaiaipiyielngni
J

<
_ ltem35 >
Model® A} —__ A B C D E F G H | J K %
MS-3 85 45 73 60 16 7 35 15 3-M6 35 1 'ZE
MS-4 112 58 95 80 24 8 45 17 3-M8 42 14 O
MS-5 132 60 115 100 32 8 45 20 3-M8 50 16 E
MS-6 167 66 147 130 45 10 5 23 3-M10 65 19 Q
MS-7 193 76 172 155 58 1 5 28 3-M10 75 22 &
MS-8 203 76 176 160 58 " 5) 28 3-M10 75 22
MS-9 233 84 210 190 70 12 55 345 3-M12 85 24
MS-10 273 86 250 230 89 12 615 39 3-M12 98 28
MS-12 310 96 285 260 105 14 7 45 3-M12 110 30
MS-14 856 112 328 300 127 15 7 50 6-M12 132 35
MS-16 405 122 375 345 160 15 8 56 6-M14 146 40
X |4 2 AYS ol nglol R 4 Lot

x
% Specifications are subject to change without notice.

Chuck Size

Standard

2-jaw type

4-jaw type

6-jaw type

Two piece jaw type

Blan

www seoam kr | 63



A3NHD IVNNVIA

2w
2

OI—O

o IECE JAW SCROLL CHUCK
SHEEHT v v 7 /| HMEFNAFEERECOFE

-+ Jaw Detachable Scroll Chuck -« Easy in Precise Processing
- Contribution for Increasing Performance
« High Quality, Long Durability - Compatibility - Parts

- I\DEELEEF v v 0 - KEENTIRS - AEMELCES
-=RE B -EEt - ER

- ~NEHFF - STHRINL - HEERS
- REY, ERAFGR - FEM - BTG

PA

=

% Xo| Q2 22 QXI5H| Yall A U23| 0] J2|AS FUGIH FAAIL,
X It is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications /3 &/fH &R/ AL H

Spec. Aty Order NO. | Chuck size | Thru-hole Dia | Gripping Force Gripping Dia Lt Weight | Narperissbespeed

orms o3 a433 o External (@) Internal (@) g HaMsEda

Model®Al mm ) kf MAX.mm = MIN.mm | MAX.mm = MN.mm kg rp.m(min”)
MSU-4 01504E 112 24 1220 100 3 93 35 345 2500
MSU-5 01505E 132 32 1530 123 3 122 43 50 2500
MSU-6 01506E 167 45 2140 160 8 150 55 8.6 2000
MSU-7 01507E 193 58 2550 180 8 170 62 12.8 2000
MSU-8 01508E 203 58 2550 180 8 170 62 14.1 2000
MSU-9 01509E 233 70 3060 220 11 210 70 204 2000
MSU-10 01510E 273 89 3670 260 12 250 80 26.7 1800
MSU-12 01512E 310 105 4488 300 15 290 90 39.3 1800
MSU-14 01514E 355 127 4488 350 25 320 110 60.7 1500
MSU-16 01516E 405 160 4589 400 30 380 110 82.3 1500

Dimension/ R~/ ER/A 4+ &

ooy "eMES | A B c D E F G H [ J K
MSU-4 112 58 95 80 24 8 4.5 315 3-M8 47 19
MSU-5 132 60 115 100 32 8 4.5 36 3-M8 51 24
MSU-6 167 66 147 130 45 10 5 39 3-M10 68 26
MSU-7 193 76 172 155 58 11 5 43 3-M10 82 28
MSU-8 203 76 176 160 58 11 5 43 3-M10 82 28
MSU-9 233 84 210 190 70 12 5.5 50 3-M12 93 32
MSU-10 273 86 250 230 89 12 5.5 545 3-M12 102 32
MSU-12 310 96 285 260 105 14 7 56 3-M12 118 40
MSU-14 355 122 328 300 127 15 7 705 6-M12 139 45
MSU-16 405 122 375 345 160 15 8 VS 6-M14 150 50

X A4 U A2 0nglo] WA 4 YLt

% Specifications are subject to change without notice,

64 | www seoam Kkr



HES £2H H
STANDARD SLOTTER CHUCK
ZEZ20y 82— / K

— . QHM oW, JZEE 7|

A
=, I__'_D°=| °

3| HAIx
e CBEE

Q  |oh

-+ General Model - High Quality
- Compatibility « Parts

cROMBWLETIL -EmwE ROEG - B - [ARER
-EEi - REY, FRFGK - RwSE - HEIHEG

Long Durability

AHONHID IVNNVIN

x =] Qo £US [X5H7| Yah 24 U2s| 014 28IAS FYsH0 FYAIR,
X |t is recommended to grease chucks at least twice a day in order to maximize longevity.

Specifications/M & /{THRFR/ AL E

Spec. At Order NO Chuck size | Thru-hole Dia | Gripping Force Gripping Dia Lo{Z Weight | Mexperisse seed

orus ’ oA ] ] External (@) Internal (@) 38 | HaARIEs

Model®4 a mm 1L kof MAXmm = MN.mm | MAXmm | MIN.mm ks rpm(min’)
MSL-06 001SL-06 220 45 2550 8 160 48 150 79 2000
MSL-08 001SL-08 270 60 3060 11 200 62 190 818 2000
MSL-10 001SL-10 315 80 4488 12 250 72 240 26.2 1800
MSL-12 001SL-12 370 105 4488 15 300 86 290 376 1800

Dimension/R /1 ER/X &1

Ll B c D E F G H | J K L M
MSL-06 | 220 170 | 58 | 18 | 130 | 45 6 26 | 3-M10x15P 68 2% 10 13
MSL-08 | 270 210 = 65 | 20 | 155 | 60 6 28 | 3-M10x15P 82 28 11 13
MSL-10 | 315 | 255 | 73 | 20 | 190 | 80 6 32 | 3-MI2x175P | 93 | 32 12 16
MSL-12 | 370 305 = 80 | 22 | 250 105 5 40 | 3-MIOX175P | 118 | 40 14 18

X A4 9 AR olnglo] HEE 4 UL,

% Specifications are subject to change without notice,

www seoam kr | 65



A3NHD IVNNVIA

4-% CHEH

4-JAW INDEPENDENT CHUCK
ADNEEF v v o / BMERHFEAN

—_ 7|.IP [2]-]¥ 5] EI%I o .T'_Ex' 71 ¢%ﬂ .

fol

-+ General model - High Quality & Long Durability
« Compatibility - Parts « Customization

- RO—RIRETI - EinE K
- LiEtt - IES c BEKES ICEBY-EZ

- BEY . FEY ERESK SR WHNE - TEETH

Specifications/M#&/{1EER/ ALY

MY g | Oukem | Trumes | Gopiofore | McGoooa | Wogn | Neomsieass

Modelﬁ*_!\\\ 2682 “mm mm kgf mm kg r.p.m(min’)
MI-6 00706 150 40 600 140 6.1 1600
MI-8 00708 200 50 1000 185 14.8 1600
MI-10 00710 250 55 1400 220 21 1600
MI-12 00712 300 65 1600 265 29.5 1400
Mi-14 00714 350 75 1700 310 40 1400
MI-16 00716 400 90 2000 360 56.5 1200
MI-18 00718 450 100 2000 405 70 1200
MI-20 00720 500 110 2200 450 90 900
MI-24 00724 600 120 2300 550 150 900
MI-28 00728 710 140 2350 650 220 700
MI-32 00732 813 140 2400 755 270 600
MI-40 00740 1000 190 3100 910 550 500
MI-50 00750 1300 390 4181 1170 1420 380
MI-63 00763 1600 200 4181 1550 2083 240

66 | www seoam Kkr



Outward Drawing/#MEYE/ MK/ 2 8 =

i
I MI—28,32
\ /
‘ |
w
SEEERE SRR 1 DI H
L _
: H
e I 7 \
. -
; @
B H #5: | "
Dimension/R 1/ EAR/A ¢ &
™ nim@% A B C D E F G H | J K L ]%
Model& 4] ~ e
MI-6 150 60 130 15 40 8 - 25 4-M10 55 25 5 '%
MI-8 200 75 175 1585 50 10 - 30 4-M12 75 30 6 %
MI-10 250 80 150 125 55 10 25 35 4-M12 90 30 6 7CL‘<)
MI-12 300 90 170 140 65 12 3 40 4-M12 100 35 6
MI-14 350 90 190 160 75 12 3 45 4-M12 10 35 8
MI-16 400 100 210 180 90 14 5 50 4-M16 120 40 8
MI-18 450 105 230 200 100 14 5 55 4-M16 130 40 8
MI-20 500 110 250 220 110 14 5 60 4-M16 140 45 8
MI-24 600 120 300 260 120 15 10 70 4-M20 160 50 10
MI-28 710 120 350 300 140 14 8 70 8-M20X2.5 180 50 12
MI-32 813 120 400 350 140 14 8 70 8-M20X2.5 180 50 12
MI-40 1000 175 460 510 190 17 1 88 6-M24X3.0 196 59 14
MI-50 1300 200 520 4636 180 26 2 80 8-M24X3.0 170 70 6
MI-63 1600 220 580 330.2 200 22 7 100 8-M24X3.0 230 80 7

¥ Xl HARSE ol nglo] HEE 4 UG
% Specifications are subject to change without notice,

Chuck Size

www seoam kr | 67



A3NHD IVNNVIA

BEEY wEH

MANUAL CHUCK
BENT =27 AF ¢ v 0 | FANED LR

- - Z&H0| Bl

ror

AT tiwd JawXE)
-« Easy to operate scroll chuck with sepped jaws.

— BN ES RIS ATV TF v v VBRI ZaT I 2 IER)

-« RIS EROER TR

B 0
— 23 80
<| Q| ﬁﬁ?@ ‘xl ° [t} b
SYRSIASY ~ L | 91
J% SEE @ o
0 [[==0 o ;
del |, | .
= T N 53
[ et 35 180
0 250
s -
B
J 180
% Xo| Qe A4S 2X[5l7| sk &4 U2s| oA IB|AZ FeI6I0] AR,
X It is recommended to grease chucks at least twice a day in order to maximize longevity.
Specifications/M 1&/LERR/ AL H
 SpecAlY Box Jaw stroke | Max. static gripping force . Gripping Dia(Exteral gripping) | Max permissible speed | Weight GD?
o OrderNO. aiezn ) yEmo ok (/g ieh mm 51 A8HE4S | 2A  Momentof inertia
ModelBAI™_ ks mm KN(kgf) Max i Min &[4 r.p.m(min"") kg N-m'(kgf.)
MU-50 1MU50 50 - 1100 260 400 900 -
MU-55 1MUS55 50 - 1250 260 400 1350 -
MU-63 1MU63 50 - 1400 330 300 1650 -
MU-70 1MU70 50 - 1590 330 250 2000 -
MU-80 1MU80 50 - 1820 330 250 3200 -

A B C D | E F Gmax K M N P Q Rmn S T
MU-50 | 1250 180 | 720 | 6476 = - | - | 550 | 3675  B8-M30xi2oL & - | - | - | - | 130 8 | -
MU-55 | 1400 180 | 720 | 6476 & - | - | 550 | 3655 B8-M3oxi2oL | - | - | - | - | 130 8 | -
MU-63 | 1600 240 1020 956 | - | - | 700 | 428 | i2-M3oxisL - | - | - | - | 165 8 | -
MU-70 | 1800 240 1020 956 | - | - | 795 | 428 | f2-M3oxtsoL | - | - | - | - | 165 8 | -
MU-80 | 2000 260 | - | 1120 | - | - | 1820 | 445 | fe-MeaxitoL | - | - | - 150 | - | -

% A 2 22 Olaglo] B8E & UL,

% Specifications are subject to change without notice,

68 | www seoam Kkr



H2HEZ oHESH
INDEPENDENT OIL COUNTRY CHUCK
TANHY FOBEEHF+ v o /| BRELENFE

-« Li14o| Zt (A L))

-« HER(ER{Z)

- MYE To|= TESA|

- T AR 288

x4t

-« High durability (Steel Body) - Suitable such as industrial pipes

- BORAK(RF-IVRT (—) « BEERNM THIECES

Spec.AtY GG Chuck size | Thru-hole Dia | Gripping Force Gripping Dia Ltt Weight Maxpermissbie speed
. : oA s mjorz External () Internal (@) B 3 IAZE B
Model&4l - mm mm kot Max Z|C Min £|A kg rpm(min’)
MIOC-20 007200C 508 210 2800 508 450 180 1000
MIOC-24 007240C 600 310 3904 600 518 190 850
MIOC-28 007280C 710 310 3056 710 710 340 750
MIOC-32 007320C 800 380 3300 800 800 463 600
Dimension/ R~/ AK/X ¢ &
T lem3S .
ot A B c D E F G H J K L | Type of Mounting
MIOC-20 508 110 - 250 210 71 181 140 40 M16 14 A2-15
MIOC-24 600 140 - 500 | 280/310 945 2344 1595 59 M24 17 A2-15/A2-20
MIOC-28 710 140 - 4636 | 280/310 89 229 205 60 M24 22 A2-15/A2-20
MIOC-32 800 145 - 4636 | 280/380 @ 104.15 | 249.15 200 60 M24 22 A2-15/A2-20

X A4 2 A2 omglo] HaE 4

p=

M

=
% Specifications are subject to change without notice,

www seoam kr | 69

AHONHID IVNNVIN



SeOAM
ACCESSORIES

Z|nate XpRASR ANS CHBILCE
AHY HE 712 M YA 600{7t SXE Jlain BYgls Lajoz
HE 712 M2 JIMOR 10| U FS 4 Y= MBI Mu|AS HEZ5H0]
S2AS oEE U

M| ABIZFAISIANE “E|n ol B2 0 "1 HUS"S KRretc

We will make a great effort to get customers satisfaction with self—confidence of the best,
The SEOAM promises to provide gquality spare parts and reliable services with accumulated
technologies and knowhow in precise parts manufacturing for 60 years

SEOAM Machinery is proud of the highest quality and precision products.



SOFT JAW

SOFT JAW

p72

HARD JAW

HARD JAW

p73

JAW NUT

p74

ADAPTER

ADAPTER

p75

MS-JAW

MANUAL

p77



S3IH0SS303V

LAZE X

SOFT JAW E¥

?J
ﬁ I
| @@Q@ LI 1]
F|g.1 ! - [T | |
Flel o PANER J el
A
?J
e M0 T
Fig2 | ¥ 1T |
R ] J el
A
» SOFT JAW
2J
SJ-LIL) L1 [
Chuck Size i  Option _ G Van o - ] o _‘
Shape A | Flat(Z{&) Fig.3 il 1,1 o
B | Protrude(1L%) Flol o oL
A M

Dimension/R~f/T/5&/A &

Type Fig | Serration A B © D E F G H J K L M N | Matching Chuck 2%
SJ-0412 | 1 15X60° | 54 | 25 | 25 10 5 10 14 1 30 | 135 | 9 14 8 3 CAS-4
SJ-05T1 1 15X60° | 54 | 23 | 25 10 4 115 14 | 28 | 135 85 165 5 - CAH-5
SJ-06T1 1 15X60° | 72 | 31 | 315 | 12 5 15 | 20 | 37 | 175 | 11 | 195 | 12 | 15 | CAH/CAS/CGH-6
SJ-08T1 1 1.5X60° | 95 | 37 | 375 | 14 5 20 | 25 | 50 | 20 14 | 225 | 12 | 20 | CAH/CAS/CGH-8
SJ-10T1 1 15X60° | 110 | 44 | 445 | 16 5 30 30 50 20 14 | 285 | 15 20 | CAH/CAS/CGH-10
SJ-12T1 2 15X60° | 129 | 49 49 18 6 39 30 60 23 16 31 - - CAS-12
SJ-12A1 2 15X60° | 111 49 495 2 5 21 30 60 25 17 | 315 - - CAH-12
SJ-15A1 2 1.5X60° | 165 | 59 | 595 | 22 8 47 | 43 | 75 | 32 | 22 36 = = CAH-15,18
SJ-15A2 | 2 30X60° | 156 | 65 | 70 | 26 8 34 | 5 | 72 | 32 | 21 50 - - | CASD-15,18,21
SJ-15A3 | 2 1.5X60° | 135 | 50 | 59 | 255 | 5 26 43 | 66 | 32 | 22 39 - - CAS-15,18
SJ-21A1 2 30X60° | 180 = 59 | 595 25 | 95 | 40 | 60 | 80 | 32 | 22 | 36 - - | CAH/CAS-2124
SJ-21A2 2 3.0X60° | 180 & 65 70 26 8 34 50 96 32 22 50 - - CASD-24
SJ-32A1 3 - 165 | 75 83 | 127 | 125 | 219 | 762 K 669 | 32 27 54 11903 - CAS-32, 32HC
SJ-40A1 | 3 = 200 | 98 | 110 | 30 6 3 | 100 | 65 | 40 | 27 | 86 | 1903 - CAS-40, 50
SJ-40A2 | 3 - 270 | 110 | 110 | 30 | 85 | 488 |2-762 688 | 40 | 27 | 85 | 1903 - | CAS-40HC, 50HC

X R4 2 AIY2 ofnglo] HEE o UsLCH
% Specifications are subject to change without notice.

72 | www . seoam kr



SlE =

HARD JAW Qg

B F H ¢J‘
S A
TGS AL
KK indndnti
A oK
F H
3
o]
A
» HARD JAW
‘ F H
MO0 00— e
Chuck Size i  Option cios E AR \» Ad. | jitj
: ig. 3 2 3 ©
Shape A | 2 Step(2E) #W / i ﬁEi 2}
B | 3 Step(3EH) A oK N ‘
G 1 G “

Dimension/R~/T&R/A+ &

Type Fig = Serration = A B C D E B G H J K L N O | Matching Chuck &S

HJ-06T1 1 15X60° | 755 | 31 | 41 12 5 30 | 20 | 12 [ 175 11 10 | 10 | 15 CAH/CAS-6

HJ-08T1 1 1.5X60° | 87 | 39 | 51 14 8 27 | 25 [ 22 | 19 | 13 | 12 | 12 | 12 CAH/CGH/CAS-8

HJ-10T1 1 15X60° | 101 | 40 | 54 | 16 5 43 |3 | 17 | 19 | 13 13 | 15 | 15 CAH/CGH/CAS-10

HJ-12A1 2 1.5X60° | 1058| 50 | 55 | 21 5 605 | 30 [ 453 | 25 | 17 | 17 | 30 | 30 CAH-12

HJ-12T1 1 15X60° | 1044 50 | 62 | 18 6 296 30 303 23 | 16 | 15 | 25 | 25 CAS-12 JL_>)
HJ-15T1 1 15X60° | 1592 62 & 86 | 22 8 66 | 43 | 35 | 32 | 21 20 | 40 | 40 CAH-15,18 ﬁ
HJ-15A1 2 3.0X60° | 1535 65 | 75 | 26 8 83 | 50 | 705 32 | 22 | 30 | 44 | 44 CASD-15,18,21 %
HJ-15A3 1 1.5X60° | 149 | 62 & 86 255 5 69 | 43 | 27 | 32 | 21 20 43 | 38 CAS-15,18 @
HJ-21B1 2 3.0X60° | 1595/ 80 | 90 | 25 | 12 (10348 50 | 562 | 32 | 22 | 40 | 55 - CAH/CAS-21,24

HJ-32A1 3 - 145 | 70 | 75 | 127 | 5 66 | 762 | 79 | 32 | 22 | 32 [19.03 - CAS-32,32HC

HJ-40A1 3 - 170 1 90 | 110 | 30 6 | 100 | 100 | 70 | 40 | 27 | 47 1903 - CAS-40,50

HJ-40A2 | 3 - 2225 80 | 117 | 30 | 85 | 133 | 1143|895 40 | 27 | 55 [19.03 - CAS-40HC,50HC

X Rl 2 A2 ollnglo] HEE 4 AsUCh

% Specifications are subject to change without notice.

www .seoam.kr | 73



S3IH0SS303V

E HE

JAw NUT JAW NUT

NF o b/ TEE

Fig.1 7

Fig.3

B€
@

i

. |
Fig.4 ‘ ©

|

Dimension/ R~/ ER/X + 1

Type Fig A B C D E F G H J R
CAH-05 1 25 145 145 10 14 55 9 M8 - - 75
CAH-06 1 35 17.5 185 12 20 8 11 M10 - - 8.75
CAH-08 1 46 20.5 20.5 14 25 10 12 M12 - - 10.25
CAH-10 1 51 22.5 215 16 30 1 13 M12 - - 11.25
CAH-12 2 535 294 275 21 30 1 16 M16 13 - -

CAH-15,18 3 80 335 455 24 43 17 29 M20 1 22 -
CAH-21,24 2 100 375 45 25 60 20 26 M20 16 - -
CAS-06 2 36 17.5 225 12 20 75 15 M10 6 - -
CAS-08 2 48 20.5 25.5 14 25 1 16 M12 8 - -
CAS-10 2 & 23 255 16 30 1 16 M12 8 - -
CAS-12 2 55.5 26.5 335 18 30 1.5 20 M14 12 - -
CAS-15,18 2 75 35 39 255 43 16 20 M20 12 - -
CAS-21,24 2 100 375 45 25 60 20 26 M20 16 - -
CAS-24 2 80.5 34 39 26 50 145 22 M20 10 - -
CAS-32 4 32 34 36.5 255 16 19.5 5 M20 12.7 - -
CAS-40 4 36 43 44 30 215 26 - M24 - - -

* A4 2 Al olnglo] wEE 4+ sLict

% Specifications are subject to change without notice.

74 | www seoam Kkr



OFEE

ADAPTER [E&s
TATa— | iE=

lz

- z 10
= z
i ;EEE
T T
g g3 g g3
3 | 3 |
:?H N
—
,z,
5| 18|
F
Fig.1—1 Fig.1-2 Fig.2

» ADAPTER

AD [ -] ALIL]

Chuck Size  Spindle Nose

Blank | Standard
T | 2-jaw type
F | 4-jaw type

Outward Drawing/sMYE/SMIR/ 21 E =

Vogery TS | spindenose  Fig A B C | D E | F | G H J | K L M N | NaihgOuokHgH
AD-05004 | A2-4 | 1-1 110 15 63513 | 61 147 65 8255 12 9 | - | 11 | 65 66 CAH.CAS-05
AD-06A05 A2-5 | 1-1 140 | 15 | 82563 | 797 163 | 65 10478 12 | 116 - | 11 | 65 | 66  CAH CAS-06
AD-08A05 A2-5 | 2 170 25 | 82563 797 |163 65 10478 - (13335 Mi2 | 175 115 | 11 | CAH CAS-08
AD-08A06 A2-6 | 1-1/170 | 17 | 106375 103 1945 65 13335 135 150 = - | 11 | 65 | 66 | CAH CAS-08

AD-10A0BAD-12A06 | A2-6 | 2 | 220| 26 | 106375 103 1945 65 13335 - [17145 M16 | 20 | 135 | 14 | CAH,CAS-10

AD-10A0BAD-12A08 | A2-8  1-1/220 18 139719 136 242 8 17145 18 | 190 - | 14 | 10 = 9 | CAH,CAS-10
AD-15A11 A2-11 [1-1/300 22 | 19687 1921|2936 10 | 285 = 21 | 260 - | 17 | 11 | 11 CAH-15
AD-18A11 A2-11 |[1-1/380 | 22 | 19687 (1921|2936 10 | 285 | 22 | 320 - | 175 | 11 | 11 CAH-18
AD-24A15 A2-15 | 1-1]380 27 | 28577 28028 355 10 (3302 24 (3302 - | 20 | 14 | 14 | CAH-24
ADT-06A05 A2-5 |1-2/140 | 15 | 82563 797 | 163 65 10478 12 | 116 | - | 11 | 65 | 66 | CAHT,CAST-06
ADT-08A06 A2-6 | 1-2170 | 17 | 106375 103 1945 65 13335 135 | 150 = - | 11 | 65 | 66 | CAHT,CAST-08
ADT-10A08 A2-8 | 1-2/220 | 18 | 139719 136 242 8 (17145 18 | 190 | - | 14 | 10 | 9 | CAHT,CAST-10
ADF-08A06 A2-6 | 1-1 170 17 | 106375 103 1945 65 (13335 135" 150 = - | 11 | 65 | 66 = CAHF-08
ADF-12A08 A2-8 | 2 220 32 139719 | 136 242 8 |17145 - (17145 MI6 | 26 | 175 | 18 | CAHF-12
ADF-15A11 A2-11[1-1/300 22 | 19687 |1929/2936 10 285 | 21 | 260 - | 17 | 11 | 11 | CAHF-15
ADF-18A11 A2-11|1-1/380 22 | 19687 19212936 10 285 = 22 | 320 - | 175 11 | 11 | CAHF-18
ADF-21A15 A2-15 | 1-1]380 | 27 | 28577 28028 36 | 12 3302 24 (3302 - | 20 | 14 | 14 | CAHF-21
ADF-24A15 A2-15 | 1-1)380 | 27 | 28577 (28028 36 | 10 | 3302 24 (3302 - | 20 | 13 | 14 | CAHF-24

X X|4 2 ARSI 0ngl0] R 4 UBLICE

% Specifications are subject to change without notice.

www seoam kr | 75

S3Il”H0SS333V



S3IH0SS303V

a0 77
SHORT TAPER SPINDLE NOSE
ol — /I | TSI

Short taper Spindle Nose

F F
—
1 1
] i
\\ _ _ o < \\ _ _ o <
\ o & \ 8 ©
\ 5 \
/‘ S /‘ IS
=—'° ’
= =
G D1 G D2
SPINDLE A1 — Type SPINDLE A2 - Type

spindle nose A B Co C1 A1-Type D1 = A1-Type D2 E F G
3 92 53.975 353 - - M - - M10
4 108 63513 413 = = " 14.15 B M10
5 133 82563 524 3095 14.29 13 159 5 M10
6 165 106.375 66.7 413 15.88 14 19.05 5 M12
8 210 139.719 857 55.55 17.46 16 238 6 M16
11 280 196.869 1175 82.55 19.55 18 286 8 M24
15 380 285.77 165.1 1238 20.64 19 349 8 M24
20 520 41277 2318 184.15 22.23 21 413 8 M24

X R4 2 AIYE ofnglo] HEE o+ UsLCH
% Specifications are subject to change without notice.

76 | www seoam Kkr



e & =

MANUAL CHUCK JAW
220-VFv vy Ta— | ZNFEMN

CEET

L2 __ L3 B2

|
A

o,

56

K1

LS

L4

I
lesles

<LHZE Internal Jaw>

THF

L1
L6 L7

<2|FE External Jaw>

Dimension/R~t/~TER/X & L3_>)

.

49}

Type = Li L2 L3 L4 L5 L6 L7 B1 B2 B3 B4 B5 B6 K1 &4

T

MS-07 | 75 226 | 25 | 553 | 502 | 29 | 254 | 22 11 9.8 9.8 12 12 | 357 i
MS-09 85 258 | 28 | 643 & 592 | 309 & 28 24 | 13.1 11 114 | 14 14 | 419
MS-10 | 98 | 303 33 | 683 631 382 | 33 28 | 151 | 112 | 114 | 15 15 | 457
MS-12 | 110 34 35 | 823 | 758 | 425 35 30 | 149 | 1335 16 16 16 | 5295
MS-14 | 132 40 42 | 939 | 868 515 415 | 35 20 16 18 18 18 | 599

% Rl B A2 oflnglo] HAEE 4 AFLCH
% Specifications are subject to change without notice.

www .seoam.kr | 77



SeOAM
SPECIAL CHUCK

Zn2k= XRAe2 NS oLt

=L Z=2 RYAHI HElHE HWEoll 2t S/ 0 AF E4XE HIEGH
7| ALY RO A2 S5 Ts2 00| B He 4 Us

HZoh ME|AE MSotHd EZAE e shlsUH

M7 AZEFA2AE "o 271 "1 HUE"S ARZBiLCH

We will make a great effort to get customers satisfaction with self—confidence of the best.
The SEOAM promises to provide world top class quality products and reliable solutions
with accumulated technologies by developing own chuck & cylinder and offering high—end
customized special purpose chuck keeping up with machine tool industry advancement,
SEOAM Machinery is proud of the highest quality and precision products,



FINGER CHUCK

Work : AL-Wheel(op-10)

FINGER CHUCK

Work : AL-Wheel(op-20)

: = 4

HYDRAULIC DOUBLE PISTON CYLINDER
Standard

=T B = mmﬂ%

| T — .-=[ SER

COLLET & FINGER FIXTURE

. ! i J

www seoam kr | 79

09}
T
m
Q
>
2
0
I
C
Q
A




DRAW DOWN CHUCK & CENTERING

Work : Pistion

OUTSIDE PIN ARBOR CHUCK

Work : Pinion gear

INSIDE DRAW DOWN CHUCK

Work : Inside Chucking Standard(C13M)

- s

9]
T
m
Q
>
2
Q
I
c
Q
A




INSIDE PIN ARBOR CHUCK

RUBBER COLLET CHUCK

Work : Motor Rotor ASS’Y

AMONHD TIVID3AdS




23NHD TVID3dS

FINGER & COLLET CHUCK

DIAPHRAGM CHUCK

FINGER & COLLET CHUCK (AIR CHUCK)

e
\.‘ \
= = ] ] :
Mgl Jh Sl 2 /11
. il * S / '_I
....... = ?‘_ (al, rlr_-_" !t
_______ nif== Y
_F-\c_‘ﬁ{:
\\§ | )

82 | www .seoam kr



SPECIAL CHUCK

ECCENTRIC & COLLET CHUCK

Work : Compressor shaft

-

—T—

WEDGE BAR CHUCK

Work : Copper pipe

LEVER CHUCK

Work : Caliper housing

Jic)

1050

i {—

S *
-

T i
T e I W

www .seoam.kr | 83



WEDGE BAR CHUCK

Work : Crank shaft

SPINDLE & COLLET CHUCK

STATIONARY CHUCK

Work : Brake cam shaft

SPECIAL CHUCK

84 | www seoam Kkr



Az Bay o
COMPENSATING CHUCK
BONBERTF v 2 [ MERFR

--ME E7[F -XNSEUEY - 24 HY . 4 oot
-+ Center Hole Base - Self-Centering

« Compensation of Centrifugal Force - Strong Gripping
- HBEEOTX  cBEPL  MEBEON - BAWEESH
-ty ARV BEPRG RBOTEE - RIEE

1YE A
STATIONARY CHUCK
BEERDF v v | BEFE

x|

—« XAl Ebxb . C2fkst EXI

= o= (==

am

- - Station—type Mounting - Diverse Features C10D
- EEREE  ZRRTSHHE
- BEiRE « ZREHIE | C10D=TFE&

2 HoIx| o
QUICK CHANGE CHUCK
949 0F 2T F v 0l | BiER

—« A AT
=

|=]

2l ILEESS

— —_ T
-+ Quick Change + Excellent Repe6.9 cmtition
-« TuR7SZTHR BNIHERL
— - i - BERMEES

E AE2F H
LONG STROKE CHUCK
OyJZ2b0-9F % v ¥ | KTEFE

-8 AER3 - SEY 2%

—-Long Stroke - Excellent Compatibility
--OvJ2b0-2 -BnichkE

-« k1718 - REMRE

Chls &
2 & 3 JAW CHUCK
BT v v 7 | MAN=R&

09}
T
m
Q
>
2
Q
I
C
Q
A

- - Ciosst mpot .oex 85

+Various Clamping - Multiple Utilites
- ZRRISIER - ZEMAR
- SRR i ool =2

www seoam kr | 85



&)

Je-Ju

seOAM

MU B LA A}

Operation area Duration

Seoul - GwangJu 50minute
Seoul - Mokpo 55minute
Seoul - Muan 55minute

(@Y Ocaionzs | v |
c—

Gwangju Songjung - Seoul

100minute

Operation area ‘ Duration

GwangJu - Seoul

210minute

GwangJu - Busan

210minute

GwangJu - DaeJeon

110minute




SEOAM

MACHINERY INDUSTRY



SEOAM

MRUT | A B LA B AL
SEOAM MACHINERY INDUSTRY CO.,LTD.

www.seoam.kr

HEAD OFFICE | 127-15 Hanam Industrial Complex, 8th Road (Ancheong dong), Gwangsan gu, Gwangju, Korea 62213
AL ST @62213 AT YA AT A 8HE 127-15(2HFY &)

ATt - T | ©62213 HMEEm AmRERSER 127-15(%ER)

TEL. +82 62 960 5000 FAX. +82 62 951 9981 E—mail. master@smiltd.co.kr

N8 < B 018 Tlo bolels SFRSF 38 leC=his = |8061 INVOAS-L ON.LVD|

0/0/°€59°290 SA Aq paubisag





